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u
♥♣❤✮❵✲♦❆❦✗②❄➓ê✐✥r❿✐✛❭❫❵❰♥➑❥❆➩❼❵❩♠✥❤✥❵✧r❄➟✺✐✛❭❫❵⑥⑤❙r➺➎✮❥✬➟Ñ②④⑦❩✐✥r④♠

d
↔❈➧

❬✢❭❫❵➆t✮⑤❫②❄③❙✐✛♥➑➩❼❵➔❞❲❵✲❤✛❭❏❞❲rP⑤❙❵❩➓✕→➣t☛❞❲❞❺↔☛♥➑❥P✐✛♠✥rP⑤❚❦❫⑦✲❵✲⑤➢➏❆❣↕✈✺♥➑➃❶➓♣❵❩➎✏❤✛➜❊♥➥②❄❥❫⑤❍✸➫②④r❏✲Ü⑩✵✴ ♠✥❵✲❤✥r④♠✛✐✥❤✾✐✥r➤♠✥❵❈➠❫❥❙♥➑❥❙➃●✐✛❭❫❵❿➃❶♠✛♥♣⑤
②❄♠✥r④❦❙❥❫⑤●✐✛❭❫❵⑥❤✛✐✛♠✛♥➑➜❼❵✾②❄❥❫⑤●②❄✐✮❴➔②❄✐✛❦❙♠✛♥➑✐à❣●②❄✐✏✐✛❭❫❵⑥⑦✲r❶❤✛✐✆r❄➟✹➩❼❵❩♠✛❣➡➓➑♥➑✐✛✐✛➓♣❵✾②④⑤❙⑤❚♥➑✐✛♥♣r④❥✗②❄➓✵⑦✲r④❴❿③❙❦❙✐✶②❄✐✛♥♣r④❥➘✐✛♥➑❴❛❵❶➧
❬✢❭❫❵➆➙✢➙✮❢❺❴❛❵❩✐✛❭❫rP⑤❏♥➑❥❆✐✛♠✥r❊⑤❚❦❫⑦✲❵✲⑤❏➏P❣❺➙➛♠✥r❼②④⑤❚♥♣❵ ②❄❥❫⑤ ✖❰❵❩✐✥❵❩❴❿③❙➓♣❵✳✲Ü❾✵✴➥♠✥❵❩③❙➓➒②④⑦✲❵✲❤✒②❄✐✧②❄❥P❣↕❥❫rP⑤❙❵➔r❄➟✢✐✛❭❫❵➔➓➒②④❤✛✐➫➏❙❦❙✐✒r④❥❫❵
✐✛♥➑❴❛❵ ➏✙❵❈➟➲r④♠✥❵➆❴➔②❄✐✛❦❙♠✛♥➑✐à❣❼❻ ✐✛❭❫❵➡➏❙♥➑❥❫r④❴❿♥➒②❄➓✏⑦✲r④❥P✐✛♥➑❥❆❦✗②❄✐✛♥♣r④❥✪➩❶②❄➓➑❦❫❵➡➎✮♥➑✐✛❭✽✐✛❭❫❵ ➙➥➓➒②④⑦✶➜❆➝➞❢❊⑦✶❭❫r④➓♣❵✲❤➔➳✠❦❙♠✥r④③✙❵➂②❄❥ r④❥❫❵✂✲➑➁✟✴õ➧➨t
✐à➎➥r❄➝Ñ③✙r④♥➑❥❆✐✥❤✕①✏♥♣⑦✶❭✗②❄♠✥⑤❙❤✥r④❥●❵❈➭❚✐✛♠✶②❄③❯r④➓➒②❄✐✛♥♣r④❥➘②❄♥➑❴❛❵✲⑤➘②❄✐✮♥➑❴❿③❙♠✥r➂➩❊♥➑❥❙➃❛✐✛❭❫❵⑥⑦✲r④❥❆➩❼❵❩♠✛➃❼❵❩❥❫⑦✲❵✧➓♣❵➂②④⑤❙❤✮✐✥r✰✐✛❭❫❵⑥➙✢➙✏❢❊①✎❴❛❵❩✐✛❭❫rP⑤❖➧
❬✢❭❫❵❺➙✢✇❩→➣①✕↔❛❴❛❵❩✐✛❭❫rP⑤❖❻✆✐✛❭✗②❄✐➆♥♣❤ ➙➛♥➑❥❫r④❴❿♥➒②❄➓⑥✇õ❥P✐✥❵❩♠✛③❯r④➓➒②❄✐✥❵✲⑤ →❍➎✮♥➑✐✛❭✎①✏♥♣⑦✶❭✗②❄♠✥⑤❙❤✥r④❥✎❵❈➭❊✐✛♠✶②❄③✙r④➓➒②❄✐✛♥♣r④❥✌↔❈❻☛♥➑❥❆✐✛♠✥r❊⑤❚❦❫⑦✲❵✲⑤ ➏❆❣
✸➫②❄❦❫⑤❙❵❩❥❂❁✲♥✺②❄❥❫⑤●q➦♠✥❵✲❤✥❤✶②④⑦✲⑦✲r❑✲Ü❷✵✴ê✐✛♠✛♥♣❵✲❤✆✐✥r❿♠✥❵✲⑦✲r➂➩❼❵❩♠☛✐✛❭❫❵➫♠✥❵❩➃❶❦❙➓➒②❄♠✛♥➑✐à❣✬r❄➟✺✐✛❭❫❵✧❤✥❵✲♦❆❦❫❵❩❥❫⑦✲❵✲❤✏➃❶♥➑➩P♥➑❥❙➃➆✐✛❭❫❵▲✻➛r✲➭❊➝õ①✏❦❙➏❙♥➑❥❫❤✛✐✥❵❩♥➑❥
③❙♠✛♥♣⑦✲❵➆r❄➟➛✐✛❭❫❵➔➳✠❦❙♠✥r④③❯❵➂②❄❥✴②❄✐➫✐✛❭❫❵❿❴❛r④❥❫❵❩❣↕r④③❙✐✛♥♣r④❥❫❤✧♠✥❵✲❤✛③❯❵✲⑦❩✐✛♥➑➩❼❵❩➓➑❣❲➟➲r④♠➫❵❩➩❼❵❩❥➍②❄❥❫⑤❺➟➲r④♠✾r❊⑤❙⑤↕❤✛✐✥❵❩③➨❥P❦❙❴✾➏✙❵❩♠✥❤➡→➣❤✥❵✲❵▼✲ ✷☎✴
②❄❥❫⑤➡①✆❵❩❴➔②❄♠✛➜➘➁✏➏✙❵❩➓♣r➂➎☛↔❈➧➦✈❫r④♠✢❵❩➩❼❵❩❥ ❤✛✐✥❵❩③➆❥P❦❙❴✾➏✙❵❩♠✥❤➂❻❊✐✛❭❙♥♣❤➛♠✥❵❩➃❶❦❙➓➒②❄♠✛♥➑✐õ❣➆⑦✲r④❴❛❵✲❤➥➟➣♠✥r④❴➸✐✛❭❫❵✕⑦✲r④♥➑❥❫⑦❩♥♣⑤❙❵❩❥❫⑦✲❵❰r❄➟➯✐✛❭❫❵❰❢P✐✛♠✛♥➑➜❼❵
➎✮♥➑✐✛❭➨②❛➠❫❥✗②❄➓✹❥❫rP⑤❙❵✒r❄➟ ✐✛❭❫❵✼✻➛r✲➭❊➝õ①✏❦❙➏❙♥➑❥❫❤✛✐✥❵❩♥➑❥❺✐✛♠✥❵✲❵❶➧❰❬✢❭❫❵✒➓♣r④➃❶♥♣⑦✰r❄➟➦✐✛❭❫❵✒➙✢✇✆②❄③❙③❙♠✥r❼②④⑦✶❭↕✐✛❭❫❵❩❥➘♥♣❤✕✐✥r➡⑦❩♠✥❵➂②❄✐✥❵❿②➔❤✥❵❩✐❰r❄➟
⑦✲r④❴❿③❙❦❙✐✶②❄✐✛♥♣r④❥✗②❄➓✺r④③❙✐✛♥♣r④❥❫❤➂❻❙❵➂②④⑦✥❭➤r④❥❫❵❰➎✮♥➑✐✛❭✬②✒⑦✲r④❴❿③❙❦❙✐✶②❄✐✛♥♣r④❥✗②❄➓✺❢P✐✛♠✛♥➑➜❼❵❰➓➑❣❊♥➑❥❙➃✰❵❈➭❫②④⑦❩✐✛➓➑❣➆r④❥✬②✾➠❫❥✗②❄➓❖❥❫r❊⑤❙❵✕r❄➟✵✐✛❭❫❵☛✐✛♠✥❵✲❵❶➧
❬✢❭❫❵➡➩❶②❄➓➑❦❫❵ r❄➟✆✐✛❭❫❵ r④③❙✐✛♥♣r④❥➍➎✮♥➑✐✛❭✴✐✛❭❫❵ ⑦✲r④❥❆✐✛♠✶②④⑦❩✐✛❦✗②❄➓❰❢P✐✛♠✛♥➑➜❼❵➆♥♣❤✒✐✛❭❫❵❩❥✽r④➏❙✐✶②❄♥➑❥❫❵✲⑤✴➏❆❣➢♥➑❥❆✐✥❵❩♠✛③✙r④➓➒②❄✐✛♥♣r④❥ r❄➟✆✐✛❭❫❵➡➩④②❄➓➑❦❫❵✲❤
r❄➟✢✐✛❭❫❵❛⑦✲r④❴❿③❙❦❙✐✶②❄✐✛♥♣r④❥✗②❄➓➛r④③❙✐✛♥♣r④❥❫❤➂➧❛✈❙❦❙♠✛✐✛❭❫❵❩♠✛❴❛r④♠✥❵❶❻✺♥➑✐⑥♥♣❤⑥③✙r❶❤✥❤✛♥➑➏❙➓♣❵✰✐✥r➤❵❈➭❚③❙➓♣r④♥➑✐➫✐✛❭❫❵❿♠✥❵✲⑦✲r➺➩❼❵❩♠✥❵✲⑤➨♠✥❵❩➃❶❦❙➓➒②❄♠✛♥➑✐õ❣↕❦❫❤✥♥➑❥❙➃●②
✐à➎➥r❄➝Ñ③✙r④♥➑❥❆✐✥❤❰①✏♥♣⑦✶❭✗②❄♠✥⑤❙❤✥r④❥●❵❈➭❚✐✛♠✶②❄③❯r④➓➒②❄✐✛♥♣r④❥❍✽✹✐✛❭❙♥♣❤✮➓♣❵➂②④⑤❙❤✏✐✥r✰✐✛❭❫❵✾➙➛✇➞①✎❴❛❵❩✐✛❭❫r❊⑤❖➧
✇à❥➡✐✛❭❫❵☛③❙♠✥❵✲❤✶❵❩❥❆✐✢③✗②❄③❯❵❩♠➂❻❊➎➛❵✆♥➑❥P➩❼❵✲❤✛✐✛♥➑➃❆②❄✐✥❵❰➏❙♥➑❥❫r④❴❿♥➒②❄➓✙✐✛♠✥❵✲❵✲❤✢➎✮♥➑✐✛❭➆③✗②❄♠✶②❄❴❛❵❩✐✥❵❩♠✥❤✢❦❙③➡➟Ñ②④⑦❩✐✥r④♠

u
❻❚⑤❙r➺➎✮❥➆➟Ñ②④⑦❩✐✥r④♠

d
②❄❥❫⑤➆❦❙③

③❙♠✥r④➏✗②❄➏❙♥➑➓➑♥➑✐à❣
pu

❤✛❦❫⑦✥❭➆✐✛❭✗②❄✐ ✐✛❭❫❵✆⑦✲r④❥P✐✛♠✶②④⑦❩✐✛❦✗②❄➓ê❢P✐✛♠✛♥➑➜❼❵✆♥➑✐✥❤✥❵❩➓ ➟➯⑦✲r④♥➑❥❫⑦❩♥♣⑤❙❵✲❤➥➎✮♥➑✐✛❭ ②❰➠❫❥✗②❄➓✌❥❫r❊⑤❙❵✏r❄➟➯✐✛❭❫❵✮✐✛♠✥❵✲❵❶➧✠✇à❥➔r④♠✥⑤❙❵❩♠➛✐✥r
r④➏❙✐✶②❄♥➑❥❲②✒✐✛♠✥❵✲❵➫⑦✲r④❥❫❤✛♥♣❤✛✐✥❵❩❥P✐✏➎✮♥➑✐✛❭✬✐✛❭❫❵⑥➙➛➓➒②④⑦✥➜P➝➞❢❊⑦✥❭❫r④➓♣❵✲❤☛❴❛rP⑤❙❵❩➓❖♥➑❥➤✐✛❭❫❵➫➓➑♥➑❴❿♥➑✐✏r❄➟✠②❄❥➤♥➑❥❚➠❫❥❙♥➑✐✥❵➫❤✥✐✥❵❩③➤❥❆❦❙❴✾➏✙❵❩♠➂❻❫➎➛❵⑥❭✗②✲➩❼❵
✐✥r❺⑦✶❭❫❵✲⑦✥➜❏✐à➎➥r❺❴❛r④❴❛❵❩❥P✐✥❤✰❴➔②❄✐✥⑦✥❭❙♥➑❥❙➃➨⑦✲r④❥❫⑤❚♥➑✐✛♥♣r④❥❫❤➂➧ ✱ ➟☛⑦✲r④❦❙♠✥❤✶❵❶❻✠❤✛♥➑❥❫⑦✲❵➔➎➛❵➤②❄♠✥❵➆③❙♠✥r➺➩P♥♣⑤❙❵✲⑤➍➎✮♥➑✐✛❭✴✐✛❭❙♠✥❵✲❵ ❵✲♦❆❦✗②❄✐✛♥♣r④❥❫❤
➎✮♥➑✐✛❭✴✐✛❭❙♠✥❵✲❵➡❦❙❥❙➜❊❥❫r➂➎✮❥❫❤➂❻ ➎➥❵ ⑦➂②❄❥❙❥❫r④✐✰♥➑❴❿③❯r❶❤✥❵

u = 1/d
➓➑♥➑➜❼❵➆♥➑❥✴✐✛❭❫❵➡❤✛✐✶②❄❥❫⑤❫②❄♠✥⑤✹✻➛r✲➭❊➝õ①✏❦❙➏❙♥➑❥❫❤✛✐✥❵❩♥➑❥✽❴❛r❊⑤❙❵❩➓Ñ➧↕❬✢❭❫❵

❤✶r④➓➑❦❙✐✛♥♣r④❥➢r❄➟✮✐✛❭❫❵➔❤✛❣❚❤✛✐✥❵❩❴ ➎✮♥➑✐✛❭➢✐✛❭❙♠✥❵✲❵➔❵✲♦P❦✗②❄✐✛♥♣r④❥❫❤➫♥♣❤✾❵➂②④❤✥♥➑➓➑❣❺❵❈➭❚③❙➓➑♥♣⑦❩♥➑✐✥❵✲⑤➢②❄❥❫⑤❏➎➥❵➔❥✗②❄❴❛❵❛✐✛❭❫❵❛⑦✲r④♠✛♠✥❵✲❤✛③✙r④❥❫⑤❚♥➑❥❙➃❲✐✛♠✥❵✲❵
❞↕❢❊❞ →➣❞➘r④❴❛❵❩❥P✐✥❤✕②❄❥❫⑤➘❢P✐✛♠✛♥➑➜❼❵✾❞❲②❄✐✥⑦✶❭❙♥➑❥❙➃P↔❈➧
❬✢❭❫❵➥③✗②❄③✙❵❩♠ê♥♣❤✺r④♠✛➃❆②❄❥❙♥◆❁➂❵✲⑤✰②④❤➯➟➣r④➓➑➓♣r➺➎✏❤✶✽➯♥➑❥✰❤✥❵✲⑦❩✐✛♥♣r④❥➡➁❶❻❳➎➛❵ ♥➑❥P✐✛♠✥rP⑤❚❦❫⑦✲❵➥✐✛❭❫❵➛⑦❩➓➒②④❤✥❤✛♥♣⑦➂②❄➓❖✻➛r➂➭P➝õ①☛r❶❤✥❤✯➝õ①✆❦❙➏❙♥➑❥❫❤✛✐✥❵❩♥➑❥✧➏❙♥➑❥❫r④❴❿♥➒②❄➓
②❄③❙③❙♠✥r➂➭❊♥➑❴➔②❄✐✛♥♣r④❥❺r❄➟✹✐✛❭❫❵➫➙➛➓➒②④⑦✥➜P➝➞❢❊⑦✥❭❫r④➓♣❵✲❤☛❴❛rP⑤❙❵❩➓Ñ➧➥❢❊❵✲⑦❩✐✛♥♣r④❥❲❾✒♥♣❤✏⑤❙❵❩➩❼r④✐✥❵✲⑤✬✐✥r✰✐✛❭❫❵➫⑦✲r④❥❫❤✥✐✛♠✛❦❫⑦❩✐✛♥♣r④❥➘r❄➟✠❞❺❢❊❞✩✐✛♠✥❵✲❵✲❤➂➧✠✇à❥
❢❊❵✲⑦❩✐✛♥♣r④❥✺✯❚❻ê➎➛❵❛➃❶♥➑➩❼❵➔②④❤✥❣P❴❿③❙✐✥r④✐✛♥♣⑦➔♠✥❵✲❤✛❦❙➓➑✐✥❤⑥➟➲r④♠⑥✐✛❭❫❵➔❞↕❢❊❞ q➦❦❙✐✾③❙♠✛♥♣⑦✲❵➔②❄❥❫⑤➢⑤❙❵❩➓➑✐✶② ♥➑❥➨✐✛❭❫❵➔➳➦❦❙♠✥r④③❯❵➂②❄❥➍⑦➂②④❤✥❵❿➎✮❭❙♥♣⑦✥❭
s✯❦❫❤✛✐✛♥ ➟➣❣❏✐✛❭❫❵➡❦❫❤✥❵ r❄➟✕①✆♥♣⑦✥❭✗②❄♠✥⑤❙❤✥r④❥ ❵❈➭❊✐✛♠✶②❄③✙r④➓➒②❄✐✛♥♣r④❥ →➣❞❺❢❊❞❲①✜❴❛❵❩✐✛❭❫r❊⑤✗↔❈➧➢✇à❥✴❤✥❵✲⑦❩✐✛♥♣r④❥P✷❫❻➦➎➛❵ ③❙♠✥❵✲❤✥❵❩❥❆✐❿✐✛❭❫❵➤❞↕❢❊❞➘①
❴❛❵❩✐✛❭❫r❊⑤✴➟➲r④♠❛t✆❴❛❵❩♠✛♥♣⑦➂②❄❥ q✠❦❙✐➔r④③❙✐✛♥♣r④❥❫❤➂➧✽✈✺♥➑❥✗②❄➓➑➓➑❣❼❻➛♥➑❥ ❤✥❵✲⑦❩✐✛♥♣r④❥ ⑩❚❻➛②❺⑦✲r④❴❿③✗②❄♠✛♥♣❤✥r④❥✪➎✮♥➑✐✛❭ ✐✛❭❫❵ ➏✙❵✲❤✛✐❿➓➒②❄✐✛✐✛♥♣⑦✲❵➤➏✗②④❤✶❵✲⑤
❥P❦❙❴❛❵❩♠✛♥♣⑦➂②❄➓✢❴❛❵❩✐✛❭❫rP⑤❙❤✧➜P❥❫r➺➎✮❥➢♥➑❥➢➓➑♥➑✐✥❵❩♠✶②❄✐✛❦❙♠✥❵➔♥♣❤✧r■❋✙❵❩♠✥❵✲⑤➢❦❫❤✛♥➑❥❙➃❺② ➓➒②❄♠✛➃❼❵➡②❄❥❫⑤❏♠✥❵❩➓➑♥➒②❄➏❙➓♣❵➔♠✶②❄❥❫⑤❙r④❴ ❤✶②❄❴❿③❙➓♣❵➆r❄➟✏⑩❚➧Ü➀❶➀❶➀
r④③❙✐✛♥♣r④❥❫❤➺➧

◗ ❘ ✤✒✝✂�✒✘✥✟✒✂✆☎✞✘✥✍✆✫➤✍✮❀✧❀✒✖✙✂❚❙➫✘✶☎✞✍✢✡✌✘✶✂✏✟ ✂✆✱●✡❯✤✧✝ ★✪✫✶✍✏✣❯✚❱❯❙✓⑥✣✙✤✧✂✏✫✶✝✠☞✭☎✞✂⑥✑✒✝✠✫

✇à❥✴✐✛❭❙♥♣❤✰③✗②❄③❯❵❩♠➂❻ ➎➥❵➤⑦✲r④❥❫❤✛♥♣⑤❙❵❩♠➔②➘❴➔②❄♠✛➜❼❵❩✐❿❴❛r❊⑤❙❵❩➓✮➎✮❭❫❵❩♠✥❵ ✐✛❭❫❵ ❵❩➩❼r④➓➑❦❙✐✛♥♣r④❥✪r❄➟✕②➘♠✛♥♣❤✛➜❊❣➍②④❤✥❤✥❵❩✐✰♥♣❤✒➃❼r➂➩❼❵❩♠✛❥❫❵✲⑤ ➏❆❣➍✐✛❭❫❵
➙➛➓➒②④⑦✶➜❆➝➞❢❊⑦✶❭❫r④➓♣❵✲❤✕❤✥✐✥rP⑦✶❭✗②④❤✛✐✛♥♣⑦➫⑤❚♥●❋❖❵❩♠✥❵❩❥❆✐✛♥➒②❄➓✵❵✲♦P❦✗②❄✐✛♥♣r④❥

dSt

St
= rdt+ σdWt, S0 = s0,

→✯➁➺↔

➬✵➬ ❒✗❲❙ð❈ð✶ã✟❳



✷ ✦ ✆✟✞ ✁ ✌☎✄✩✔☞✞✄✂ ✁✆☎✥✒ ✎✚✌☎✔☞✞❏✌☎✞✏✎✩✬✭✞✡✠✜✁☎✞ ✔☞✞✏✁✞✝ ✌☎✞❄✆ ✠✪✠ ✆

♥➑❥ ➎✮❭❙♥♣⑦✥❭➯❻✢❦❙❥❫⑤❙❵❩♠➡✐✛❭❫❵✬❤✥r➨⑦➂②❄➓➑➓♣❵✲⑤ ♠✛♥♣❤✛➜➍❥❫❵❩❦❙✐✛♠✶②❄➓☛③❙♠✥r④➏✗②❄➏❙♥➑➓➑♥➑✐à❣ ❴❛❵➂②④❤✛❦❙♠✥❵❶❻
(Wt)0≤t≤T

♥♣❤➆②↕❤✥✐✶②❄❥❫⑤❫②❄♠✥⑤✪➙➛♠✥r➂➎✮❥❙♥➒②❄❥
❴❛r④✐✛♥♣r④❥➯➧ ❬✢❭❫❵❰❥❫r④❥❙❥❫❵❩➃❆②❄✐✛♥➑➩❼❵⑥⑦✲r④❥❫❤✛✐✶②❄❥❆✐

r
♥♣❤✢✐✛❭❫❵✕♥➑❥P✐✥❵❩♠✥❵✲❤✛✐✮♠✶②❄✐✥❵⑥②❄❥❫⑤➆✐✛❭❫❵✕③✙r❶❤✛♥➑✐✛♥➑➩❼❵❰⑦✲r④❥❫❤✛✐✶②❄❥❆✐

σ
♥♣❤➛✐✛❭❫❵✕➩❼r④➓➒②❄✐✛♥➑➓➑♥➑✐õ❣ r❄➟

✐✛❭❫❵➫♠✛♥♣❤✛➜P❣➤②④❤✥❤✥❵❩✐➂➧
❬✢❭❫❵❰➩❶②❄➓➑❦❫❵➫②❄✐✮✐✛♥➑❴❛❵

t = 0
r❄➟➦②✧③❙➓➒②❄♥➑❥➤➩④②❄❥❙♥➑➓➑➓➒②✰t☛❴❛❵❩♠✛♥♣⑦➂②❄❥✬q✠❦❙✐✆r④③❙✐✛♥♣r④❥✬r④❥➤✐✛❭❫❵✕♠✛♥♣❤✛➜❊❣➔❦❙❥❫⑤❙❵❩♠✛➓➑❣❊♥➑❥❙➃❛➎✮♥➑✐✛❭➤❴➔②❄✐✛❦❙♠✛♥➑✐õ❣

T
❻❚♥♣❤➺❻❙♥➑❥➤✐✛❭❫❵➫⑦✲r④❥❙❥❫❵✲⑦❩✐✛♥♣r④❥●➎✮♥➑✐✛❭ ✱ ③❙✐✛♥➑❴➔②❄➓✺❢P✐✥r④③❙③❙♥➑❥❙➃➆❬✢❭❫❵✲r④♠✛❣❼❻❙➃❶♥➑➩❼❵❩❥●➏❆❣ ✽

v(0, s0) = sup
τ∈T0,T

E
(

e−rτ (K − Sτ )
+
)

➎✮❭❫❵❩♠✥❵ T0,T
♥♣❤✮✐✛❭❫❵➫❤✥❵❩✐✏r❄➟➦②❄➓➑➓➯❤✛✐✥r④③❙③❙♥➑❥❙➃➔✐✛♥➑❴❛❵✲❤✏➎✮♥➑✐✛❭✬➩④②❄➓➑❦❫❵✲❤✏♥➑❥

[0, T ]
➧

❝☛❥❙➓➑♥➑➜❼❵✆➳➦❦❙♠✥r④③❯❵➂②❄❥➡r④③❙✐✛♥♣r④❥❫❤➂❻Pt☛❴❛❵❩♠✛♥♣⑦➂②❄❥➆q➦❦❙✐➥r④③❙✐✛♥♣r④❥❫❤➛⑦➂②❄❥❙❥❫r④✐ ➏✙❵✮➩④②❄➓➑❦❫❵✲⑤❛➏❆❣❿⑦❩➓♣r❶❤✥❵✲⑤❊➝➲➟➲r④♠✛❴ ➟➲r④♠✛❴✾❦❙➓➒②④❵❰②❄❥❫⑤❿♠✥❵✲♦❆❦❙♥➑♠✥❵
✐✛❭❫❵➆❦❫❤✥❵➡r❄➟☛②❄③❙③❙♠✥r✲➭❚♥➑❴➔②❄✐✛♥♣r④❥✴❴❛❵❩✐✛❭❫rP⑤❙❤➤→➣❤✥❵✲❵➔➟➣r④♠✒❵❈➭❙②❄❴❿③❙➓♣❵✙✲Ü❽✵✴❍↔❈➧❑✾➨❵ ②❄♠✥❵➡⑦✲r④❥❫⑦✲❵❩♠✛❥❫❵✲⑤➢➎✮♥➑✐✛❭✴⑤❚♥♣❤✥⑦❩♠✥❵❩✐✥❵➆❥❆❦❙❴❛❵❩♠✛♥♣⑦➂②❄➓
❴❛❵❩✐✛❭❫r❊⑤❙❤❛②❄❥❫⑤➢♠✥❵✲⑦➂②❄➓➑➓➛✐✛❭✗②❄✐✒✐✛❭❫❵❩♠✥❵➤②❄♠✥❵➔✐à➎➥r❲❴➔②❄♥➑❥✽⑤❚♥♣❤✥⑦❩♠✥❵❩✐✥❵➆❥❆❦❙❴❛❵❩♠✛♥♣⑦➂②❄➓✆②❄③❙③❙♠✥r❼②④⑦✥❭❫❵✲❤❉✽➔r④❥❫❵➡♥♣❤✾✐✛❭❫❵➆③❙♠✥r④➏✗②❄➏❙♥➑➓➑♥♣❤✛✐✛♥♣⑦
②❄③❙③❙♠✥r❼②④⑦✶❭↕➏✗②④❤✥❵✲⑤❲r④❥➘✐✛❭❫❵✰②❄③❙③❙♠✥r✲➭❚♥➑❴➔②❄✐✛♥♣r④❥➨r❄➟ ⑤❚♥●❋❯❦❫❤✥♥♣r④❥➘➏P❣●❞❲②❄♠✛➜❼r➺➩●⑦✥❭✗②❄♥➑❥❫❤❛→❍✐✛♠✥❵✲❵✧❴❛❵❩✐✛❭❫r❊⑤❙❤❨↔❈❻❯✐✛❭❫❵✧r④✐✛❭❫❵❩♠❰r④❥❫❵✾♥♣❤
✐✛❭❫❵✧②❄❥✗②❄➓➑❣P✐✛♥♣⑦➫②❄③❙③❙♠✥r❼②④⑦✶❭●♠✥❵❩➓➒②❄✐✥❵✲⑤➤✐✥r✰✐✛❭❫❵⑥⑤❚♥♣❤✥⑦❩♠✥❵❩✐✛♥◆❁➺②❄✐✛♥♣r④❥❲r❄➟✵✐✛❭❫❵⑥➩❶②❄♠✛♥➒②❄✐✛♥♣r④❥✗②❄➓➯♥➑❥❫❵✲♦P❦✗②❄➓➑♥➑✐õ❣➤❤✶②❄✐✛♥♣❤✯➠✗❵✲⑤ ➏P❣➆✐✛❭❫❵⑥r④③❙✐✛♥♣r④❥
➩❶②❄➓➑❦❫❵➆→ý➠❫❥❙♥➑✐✥❵✧⑤❚♥●❋✙❵❩♠✥❵❩❥❫⑦✲❵✧r④♠✏➠❫❥❙♥➑✐✥❵➫❵❩➓♣❵❩❴❛❵❩❥P✐✥❤✕❴❛❵❩✐✛❭❫rP⑤❙❤❨↔❈➧➛❬✢❭❫❵➫❴✧❦❙➓➑✐✛♥➑③❙➓➑♥♣⑦➂②❄✐✛♥➑➩❼❵✒➏❙♥➑❥❫r④❴❿♥➒②❄➓❚✻➛r➂➭P➝õ①☛r❶❤✥❤✯➝õ①✏❦❙➏❙♥➑❥❫❤✥✐✥❵❩♥➑❥
❴❛r❊⑤❙❵❩➓✩✲ ✯■✴☛❭✗②④❤➤②❄❥ ♥➑❥❆✐✥❵❩♠✥❵✲❤✛✐➤r④❥ ❭❙♥♣❤➆r➺➎✮❥✎②④❤ ②❏➏✗②④❤✛♥♣⑦➘⑤❚♥♣❤✶⑦❩♠✥❵❩✐✥❵❈➝Ñ✐✛♥➑❴❛❵➘❴❛r❊⑤❙❵❩➓☛➟➣r④♠➆✐✛❭❫❵●❦❙❥❫⑤❙❵❩♠✛➓➑❣❊♥➑❥❙➃ ②④❤✥❤✥❵❩✐ r❄➟✧②
➠❫❥✗②❄❥❫⑦❩♥➒②❄➓➛⑤❙❵❩♠✛♥➑➩④②❄✐✛♥➑➩❼❵❶❻✵⑦✲r④❥❆➩❼❵❩♠✛➃❶♥➑❥❙➃❲✐✥r ✐✛❭❫❵❿⑤❚♥●❋❯❦❫❤✥♥♣r④❥➨③❙♠✥rP⑦✲❵✲❤✶❤➔→✯➁➺↔☛❦❙❥❫⑤❙❵❩♠✧②❄③❙③❙♠✥r④③❙♠✛♥➒②❄✐✥❵➔⑦✲r④❥❫⑤❚♥➑✐✛♥♣r④❥❫❤➺➧ ✱ ❥❫❵❿r❄➟➛♥➑✐✥❤
❴➔②❄♥➑❥❲②❄✐✛✐✛♠✶②④⑦❩✐✛♥➑➩❼❵⑥➟➲❵➂②❄✐✛❦❙♠✥❵⑥♥♣❤✮✐✛❭❫❵➫❵➂②④❤✛♥➑❥❫❵✲❤✶❤✏r❄➟✹❤✥✐✶②❄❥❫⑤❫②❄♠✥⑤✬r④③❙✐✛♥♣r④❥✬③❙♠✛♥♣⑦❩♥➑❥❙➃➔➏P❣➆➏✗②④⑦✶➜P➎✢②❄♠✥⑤✬♥➑❥❫⑤❚❦❫⑦❩✐✛♥♣r④❥➯➧

✟➯❵❩✐
N

⑤❙❵❩❥❫r④✐✥❵➡✐✛❭❫❵➔❤✥✐✥❵❩③➢❥P❦❙❴✾➏✙❵❩♠✒r❄➟✏✐✛❭❫❵➆✐✛♠✥❵✲❵➡②❄❥❫⑤
∆T = T

N

✐✛❭❫❵➡⑦✲r④♠✛♠✥❵✲❤✛③✙r④❥❫⑤❚♥➑❥❙➃❲✐✛♥➑❴❛❵❈➝õ❤✥✐✥❵❩③➯➧●❬✢❭❫❵➆➓♣r④➃④➝
❥❫r④♠✛❴➔②❄➓✺⑤❚♥●❋❯❦❫❤✥♥♣r④❥✬③❙♠✥rP⑦✲❵✲❤✶❤

(Sn∆T )0≤n≤N

♥♣❤✆②❄③❙③❙♠✥r✲➭❚♥➑❴➔②❄✐✥❵✲⑤●➏P❣ ✐✛❭❫❵▲✻➛r✲➭❊➝õ①✆r❶❤✥❤✛➝õ①✏❦❙➏❙♥➑❥❫❤✛✐✥❵❩♥➑❥✬➏❙♥➑❥❫r④❴❿♥➒②❄➓ê③❙♠✥rP⑦✲❵✲❤✥❤
(s0
∏n

j=1 Yj)0≤n≤N
➎✮❭❫❵❩♠✥❵☛✐✛❭❫❵✏♠✶②❄❥❫⑤❙r④❴ ➩④②❄♠✛♥➒②❄➏❙➓♣❵✲❤

Y1, . . . , YN
②❄♠✥❵☛♥➑❥❫⑤❙❵❩③✙❵❩❥❫⑤❙❵❩❥❆✐✏②❄❥❫⑤➔♥♣⑤❙❵❩❥P✐✛♥♣⑦➂②❄➓➑➓➑❣➆⑤❚♥♣❤✛✐✛♠✛♥➑➏❙❦❙✐✥❵✲⑤

➎✮♥➑✐✛❭➘➩④②❄➓➑❦❫❵✲❤☛♥➑❥ {d, u} ➧✠✟➯❵❩✐✆❦❫❤☛⑤❙❵❩❥❫r④✐✥❵➫➏❆❣
pu = P(Yn = u) = 1 − P(Yn = d)

➧☛✡❰❦❫❤✛❭❙❥❫❵❩♠ ✎è❤☛✐✛❭❫❵✲r④♠✥❵❩❴ ✲Ü❸✵✴✵❤✶②✲❣❚❤
✐✛❭✗②❄✐➥✐✛❭❫❵✏➓♣r❊⑦➂②❄➓✌⑦✲r④❥❫❤✛♥♣❤✥✐✥❵❩❥❫⑦❩❣✰⑦✲r④❥❫⑤❚♥➑✐✛♥♣r④❥❫❤➺❻❆✐✛❭✗②❄✐➥♥♣❤➦✐✛❭❫❵✏❴➔②❄✐✥⑦✶❭❙♥➑❥❙➃✰②❄✐➥✐✛❭❫❵✢➠❫♠✥❤✛✐➛r④♠✥⑤❙❵❩♠➥r❄➟❖✐✛❭❫❵✮➠❫♠✥❤✛✐➛②❄❥❫⑤➔❤✥❵✲⑦✲r④❥❫⑤➔❴❛r❄➝
❴❛❵❩❥P✐✥❤ r❄➟❯✐✛❭❫❵➥➓♣r④➃❆②❄♠✛♥➑✐✛❭❙❴❿♥♣⑦✏♥➑❥❫⑦❩♠✥❵❩❴❛❵❩❥❆✐✥❤ r❄➟❯✐✛❭❫❵✏②❄③❙③❙♠✥r✲➭❚♥➑❴➔②❄✐✛♥➑❥❙➃✾⑦✥❭✗②❄♥➑❥➔➎✮♥➑✐✛❭❿✐✛❭❫r❶❤✥❵✢r❄➟✌✐✛❭❫❵✮⑦✲r④❥❆✐✛♥➑❥P❦❫r④❦❫❤✯➝Ñ✐✛♥➑❴❛❵✏➓➑♥➑❴❿♥➑✐
➃❶♠✶②❄❥P✐➫✐✛❭❫❵✰⑦✲r④❥❆➩❼❵❩♠✛➃❼❵❩❥❫⑦✲❵❛r❄➟➛✐✛❭❫❵✰❵❈➭❊③✙❵✲⑦❩✐✶②❄✐✛♥♣r④❥❫❤➫r❄➟➛❤✥❴❛rPr④✐✛❭❲➟➣❦❙❥❫⑦❩✐✛♥♣r④❥✗②❄➓♣❤➂➧✾❬✢❭❫❵✲❤✥❵✧➠❫♠✥❤✛✐❰✐à➎➥r➤❴❛r④❴❛❵❩❥P✐✥❤⑥❴➔②❄✐✥⑦✥❭❙♥➑❥❙➃
⑦✲r④❥❫⑤❚♥➑✐✛♥♣r④❥❫❤☛♠✥❵➂②④⑤

{

pu log u+ (1 − pu) log d = (r − 1
2σ

2)∆T

pu(log u)2 + (1 − pu) (log d)2 = σ2∆T.

→➲❾❼↔

✇à❥❿✐✛❭❫❵✭✻➛r➂➭P➝õ①☛r❶❤✥❤✯➝õ①✏❦❙➏❙♥➑❥❫❤✥✐✥❵❩♥➑❥❛❴❛rP⑤❙❵❩➓Ñ❻❆✐✛❭❫❵✮③❙♠✛♥♣⑦✲❵✆②❄✐✠✐✛♥➑❴❛❵
n ∈ {0, . . . ,N} r❄➟✙✐✛❭❫❵✮➳➦❦❙♠✥r④③❯❵➂②❄❥❺→❍♠✥❵✲❤✛③➯➧✹t✆❴❛❵❩♠✛♥♣⑦➂②❄❥✌↔

q➦❦❙✐☛r④③❙✐✛♥♣r④❥●♥♣❤✏➃❶♥➑➩❼❵❩❥●➏❆❣
v(n, s0

∏n
j=1 Yj)

➎✮❭❫❵❩♠✥❵⑥✐✛❭❫❵❰➟➣❦❙❥❫⑦❩✐✛♥♣r④❥❫❤
v(n, x)

⑦➂②❄❥●➏✙❵⑥⑦✲r④❴❿③❙❦❙✐✥❵✲⑤✬➏❆❣ ✐✛❭❫❵➫➟➣r④➓➑➓♣r➺➎✮♥➑❥❙➃
➏✗②④⑦✶➜P➎✢②❄♠✥⑤➘⑤❚❣❊❥✗②❄❴❿♥♣⑦⑥③❙♠✥r④➃❶♠✶②❄❴❿❴❿♥➑❥❙➃➡❵✲♦❆❦✗②❄✐✛♥♣r④❥❫❤







vN (N,x) = (K − x)+

vN (n, x) = max

(

ψ(x),
1

upu + d(1 − pu)

[

puvN (n+ 1, xu) + (1 − pu)vN (n+ 1, xd)
]

)

,

→✪✯❼↔

➎✮❭❫❵❩♠✥❵
ψ ≡ 0

→❍♠✥❵✲❤✛③➯➧
ψ(x) = (K − x)+

↔❈➧ ✇õ❥➤✐✛❭❫❵➫➳➦❦❙♠✥r④③❯❵➂②❄❥●⑦➂②④❤✶❵❶❻

vN (n, x) =
1

(upu + d(1 − pu))N−n
E

[(

K − x
N
∏

j=n+1

Yj

)+]

.
→☞✷P↔

❬✢❭❫❵❛③❙♠✥❵✲❤✥❵❩❥❫⑦✲❵❿r❄➟
E[Y1] = upu + d(1 − pu)

♥➑❥❺✐✛❭❫❵❛②④⑦❩✐✛❦✗②❄➓➑♥◆❁➺②❄✐✛♥♣r④❥➨➟Ñ②④⑦❩✐✥r④♠✥❤⑥♥➑❥✪→✪✯❼↔❰②❄❥❫⑤ →☞✷P↔✕❵❩❥❫❤✛❦❙♠✥❵✲❤❰✐✛❭✗②❄✐➫✐✛❭❫❵
③❙♠✛♥♣⑦✲❵✲❤✾⑦✲r④❴❿③❙❦❙✐✥❵✲⑤❺♥➑❥❲✐✛❭❫❵✒➏❙♥➑❥❫r④❴❿♥➒②❄➓✠❴❛r❊⑤❙❵❩➓➦②❄♠✥❵❛②❄♠✛➏❙♥➑✐✛♠✶②❄➃❼❵❈➝➲➟❍♠✥❵✲❵❶➧✧✇õ❥↕r④♠✥⑤❙❵❩♠❰✐✥r r④➏❙✐✶②❄♥➑❥➨❵❈➭❊③❙➓➑♥♣⑦❩♥➑✐➫❵❈➭❚③❙♠✥❵✲❤✥❤✛♥♣r④❥❫❤☛➟➲r④♠
✐✛❭❫❵❰③✗②❄♠✶②❄❴❛❵❩✐✥❵❩♠✥❤☛r❄➟✹❞↕❢❊❞✷✐✛♠✥❵✲❵✲❤➺❻❚➎➥❵❰③❙♠✥❵❈➟➲❵❩♠✮✐✥r✰♥➑❴❿③❯r❶❤✥❵❰✐✛❭❫❵✕➠❫♠✥❤✥✐✏❵✲♦❆❦✗②❄➓➑♥➑✐à❣➆♥➑❥❏→➲❾❼↔➥♠✶②❄✐✛❭❫❵❩♠✮✐✛❭✗②❄❥➤✐✛❭❫❵❰❴❛r④♠✥❵⑥❦❫❤✥❦✗②❄➓
⑦✲r④❥❫⑤❚♥➑✐✛♥♣r④❥

upu + d(1 − pu) = er∆t ➧➔❜✕r④✐✛♥♣⑦✲❵❛✐✛❭✗②❄✐➫❦❙❥❫⑤❙❵❩♠ →➲❾❼↔❩❻➯✐✛❭❫❵❛➓➒②④❤✛✐✾❵✲♦P❦✗②❄➓➑♥➑✐õ❣↕❭❫r④➓♣⑤❙❤➫❦❙③➢✐✥r●② ✐✥❵❩♠✛❴✷➎✮♥➑✐✛❭
r④♠✥⑤❙❵❩♠ O((∆T )2)

➧
❬✢❭❫❵✒♥➑❥❙♥➑✐✛♥➒②❄➓✠③❙♠✛♥♣⑦✲❵➤→❍♠✥❵✲❤✛③➯➧⑥⑤❙❵❩➓➑✐✶②❼↔✕r❄➟ ✐✛❭❫❵✰q✠❦❙✐⑥r④③❙✐✛♥♣r④❥❺♥➑❥❺✐✛❭❫❵✰➙➥➓➒②④⑦✶➜❆➝➞❢❊⑦✶❭❫r④➓♣❵✲❤⑥❴❛r❊⑤❙❵❩➓✹⑦➂②❄❥❺➏✙❵✒②❄③❙③❙♠✥r➂➭❊♥➑❴➔②❄✐✥❵✲⑤➨➏❆❣

➱❍Ý✵➬✵➱ ✞
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vN (0, s0)
→❍♠✥❵✲❤✛③➯➧✬✐✛❭❫❵➡②❄❴❛r④❦❙❥❆✐ vN (1,s0u)−vN (1,s0d)

s0(u−d)

r❄➟✏♠✛♥♣❤✥➜P❣❏②④❤✥❤✶❵❩✐➫♥➑❥➢✐✛❭❫❵➔♠✥❵❩③❙➓➑♥♣⑦➂②❄✐✛♥♣r④❥✴③❯r④♠✛✐✯➟➲r④➓➑♥♣r➘r④❥➢✐✛❭❫❵❛➠❫♠✥❤✥✐
✐✛♥➑❴❛❵❈➝õ❤✥✐✥❵❩③❏♥➑❥➨✐✛❭❫❵ ✻➛r➂➭P➝õ①☛r❶❤✥❤✯➝õ①✆❦❙➏❙♥➑❥❫❤✛✐✥❵❩♥➑❥➨❴❛r❊⑤❙❵❩➓ý↔❈➧❛❜☛r④✐✛♥♣⑦✲❵❛✐✛❭✗②❄✐✾♥➑❥➨r④♠✥⑤❙❵❩♠✾✐✥r➤r④➏❙✐✶②❄♥➑❥➢✐✛❭❫❵➔②❄③❙③❙♠✥r✲➭❚♥➑❴➔②❄✐✥❵❛③❙♠✛♥♣⑦✲❵
②❄❥❫⑤●⑤❙❵❩➓➑✐✶②❚❻❫r④❥❫❵➫r④❥❙➓➑❣➡❥❫❵✲❵✲⑤❙❤✏✐✥r❛⑦✲r④❴❿③❙❦❙✐✥❵ (

vN (n, s0u
kdn−k), 0 ≤ k ≤ n

) ➏❆❣ ➏✗②④⑦✶➜P➎✢②❄♠✥⑤✬♥➑❥❫⑤❚❦❫⑦❩✐✛♥♣r④❥➘r④❥
n
➧

❬✢❭❫❵✆❦❫❤✥❦✗②❄➓❅✻➛r➂➭P➝õ①☛r❶❤✥❤✯➝õ①✏❦❙➏❙♥➑❥❫❤✥✐✥❵❩♥➑❥➆✐✛♠✥❵✲❵❿→❍❭❫❵❩❥❫⑦✲❵❈➟➲r④♠✛✐✛❭ ⑤❙❵❩❥❫r④✐✥❵✲⑤❑✻➛①☛①✕↔✠⑦✲r④♠✛♠✥❵✲❤✥③❯r④❥❫⑤❙❤➛✐✥r✧✐✛❭❫❵✕⑦✶❭❫r④♥♣⑦✲❵
u = 1

d =

eσ
√

∆T ②❄❥❫⑤
d + (u − d)pu = er∆T ➧⑥❬✢❭❙♥♣❤✕➓♣❵➂②④⑤❙❤✕✐✥r

pu = er∆T−e−σ
√

∆T

eσ
√

∆T−e−σ
√

∆T

➧ ✾ ❭❫❵❩❥
∆T

♥♣❤❰❤✛❴➔②❄➓➑➓✺❵❩❥❫r④❦❙➃❶❭↕♥Ñ➧è❵❶➧
➎✮❭❫❵❩❥

N
♥♣❤⑥➓➒②❄♠✛➃❼❵➆❵❩❥❫r④❦❙➃❶❭➯❻ê✐✛❭❫❵➆②❄➏❯r➺➩❼❵❿➩④②❄➓➑❦❫❵➔r❄➟

pu
➏❯❵❩➓♣r④❥❙➃❼❤✾✐✥r

]0, 1[
➧➆✈❫r④♠✾✐✛❭❙♥♣❤➫⑦✶❭❫r④♥♣⑦✲❵➔r❄➟

u
❻
d

②❄❥❫⑤
pu

❻ê✐✛❭❫❵
❤✶❵✲⑦✲r④❥❫⑤✬❵✲♦❆❦✗②❄➓➑♥➑✐à❣ ♥➑❥➢→➲❾❼↔➥♥♣❤✏❤✶②❄✐✛♥♣❤✯➠✗❵✲⑤ ➎✮❭❫❵❩♠✥❵➂②④❤✆✐✛❭❫❵➫⑤❚♥●❋❖❵❩♠✥❵❩❥❫⑦✲❵⑥➏❯❵❩✐à➎➥❵✲❵❩❥➘➏❯r④✐✛❭●❤✥♥♣⑤❙❵✲❤✮r❄➟✺✐✛❭❫❵❰➠❫♠✥❤✥✐✏❵✲♦❆❦✗②❄➓➑♥➑✐à❣➡♥➑❥➍→➲❾❼↔
♥♣❤❿r❄➟✕r④♠✥⑤❙❵❩♠

(∆T )2
➧➨❬✢❭❙♥♣❤✰♥♣❤✰❤✛❦❚➻➔⑦❩♥♣❵❩❥P✐❿✐✥r❲❵❩❥❫❤✥❦❙♠✥❵➤⑦✲r④❥❆➩❼❵❩♠✛➃❼❵❩❥❫⑦✲❵➤✐✥r❲✐✛❭❫❵ ➙➛➓➒②④⑦✥➜P➝➞❢❊⑦✥❭❫r④➓♣❵✲❤❛❴❛r❊⑤❙❵❩➓✢♥➑❥✴✐✛❭❫❵➆➓➑♥➑❴❿♥➑✐

N → +∞ ➧ ✟➯❵❩✐
PCRR

N

②❄❥❫⑤
PBS

⑤❙❵❩❥❫r④✐✥❵✰✐✛❭❫❵✰♥➑❥❙♥➑✐✛♥➒②❄➓✹③❙♠✛♥♣⑦✲❵❿r❄➟➛✐✛❭❫❵✒➳➦❦❙♠✥r④③❯❵➂②❄❥❏q➦❦❙✐❰r④③❙✐✛♥♣r④❥↕➎✮♥➑✐✛❭↕❴➔②❄✐✛❦❙♠✛♥➑✐à❣
T②❄❥❫⑤❏❤✛✐✛♠✛♥➑➜❼❵

K
♠✥❵✲❤✥③❯❵✲⑦❩✐✛♥➑➩❼❵❩➓➑❣❲♥➑❥↕✐✛❭❫❵ ✻➛r✲➭❊➝õ①✆r❶❤✶❤✯➝õ①✏❦❙➏❙♥➑❥❫❤✛✐✥❵❩♥➑❥↕❴❛r❊⑤❙❵❩➓ ②❄❥❫⑤↕♥➑❥↕✐✛❭❫❵❿➙➛➓➒②④⑦✥➜P➝➞❢❊⑦✥❭❫r④➓♣❵✲❤✧❴❛r❊⑤❙❵❩➓Ñ➧❿❝☛❤✛♥➑❥❙➃

✐✛❭❫❵ ✻✢②❄➓➑➓ ➝õq✠❦❙✐✆③✗②❄♠✛♥➑✐à❣➡♠✥❵❩➓➒②❄✐✛♥♣r④❥❫❤✆♥➑❥✬➏✙r④✐✛❭➤❴❛rP⑤❙❵❩➓♣❤✕②❄❥❫⑤ ♠✥❵✲❤✛❦❙➓➑✐✥❤✏➃❶♥➑➩❼❵❩❥➤➟➲r④♠✮✐✛❭❫❵▲✻✢②❄➓➑➓➯r④③❙✐✛♥♣r④❥➘♥➑❥❏✲ ✷☎✴õ❻❫r④❥❫❵⑥➃❼❵❩✐✥❤

PCRR
N = PBS − Ke−rT

N
e−

d2
2

2

√

2

π

[

κN (κN − 1)σ
√
T +D1

]

+ O
(

1

N3/2

)

,

➎✮❭❫❵❩♠✥❵
d2 =

log(
s0
K

)+(r−σ2

2
)T

σ
√

T

❻
κN

⑤❙❵❩❥❫r④✐✥❵✲❤❰✐✛❭❫❵✒➟❍♠✶②④⑦❩✐✛♥♣r④❥✗②❄➓✠③✗②❄♠✛✐➫r❄➟ log( K
s0

)

2σ

√

N
T − N

2

②❄❥❫⑤
D1

♥♣❤➫② ⑦✲r④❥❫❤✛✐✶②❄❥❆✐➂➧
➙✢❵✲⑦➂②❄❦❫❤✥❵❰✐✛❭❫❵❰❤✥❵✲♦P❦❫❵❩❥❫⑦✲❵

(κN )N
♥♣❤✮r❶❤✥⑦❩♥➑➓➑➓➒②❄✐✛♥➑❥❙➃➔②❄➓➑✐✛❭❫r④❦❙➃❶❭➤➏✙r④❦❙❥❫⑤❙❵✲⑤❖❻❚♥➑❥➤✐✛❭❫❵⑥②❄③❙③❙♠✥r✲➭❚♥➑❴➔②❄✐✛♥♣r④❥

2PCRR
2N − PCRR

N

r❄➟
PBS

r④➏❙✐✶②❄♥➑❥❫❵✲⑤❛❦❫❤✥♥➑❥❙➃✾①✏♥♣⑦✶❭✗②❄♠✥⑤❙❤✥r④❥➆❵❈➭❚✐✛♠✶②❄③❯r④➓➒②❄✐✛♥♣r④❥➯❻P✐✛❭❫❵✮✐✥❵❩♠✛❴ ➎✮♥➑✐✛❭➡r④♠✥⑤❙❵❩♠
1/N

⑤❙r❊❵✲❤➦❥❫r④✐ ➩④②❄❥❙♥♣❤✛❭➔➎✮❭❙♥♣⑦✥❭➆❵❈➭❚③❙➓➒②❄♥➑❥❫❤
✐✛❭❫❵❰③✙r❊r④♠✮❥❆❦❙❴❛❵❩♠✛♥♣⑦➂②❄➓➯➏✙❵❩❭✗②✲➩❊♥♣r④❦❙♠✆r❄➟✵✐✛❭❙♥♣❤☛②❄③❙③❙♠✥r✲➭❚♥➑❴➔②❄✐✛♥♣r④❥➯➧ ✇õ➟✵✐✛❭❫❵✾❢P✐✛♠✛♥➑➜❼❵

K
♥♣❤✮❵✲♦❆❦✗②❄➓❖✐✥r❿r④❥❫❵⑥r❄➟✺✐✛❭❫❵✕➠❫❥✗②❄➓❖❥❫rP⑤❙❵✲❤

(s0e
(2k−N)σ

√
∆T )0≤k≤N

r❄➟✠✐✛❭❫❵⑥✐✛♠✥❵✲❵❶❻✗✐✛❭❫❵❩❥➘r④❥❫❵⑥❭✗②④❤
κN = 0

➧➛❬✢❭❙♥♣❤✠s✯❦❫❤✛✐✛♥ ➠✗❵✲❤✆r④❦❙♠✆♥➑❥❆✐✥❵❩♠✥❵✲❤✛✐☛♥➑❥●✐✛♠✥❵✲❵✲❤✆❤✥❦❫⑦✥❭✬✐✛❭✗②❄✐
✐✛❭❫❵✒❢P✐✛♠✛♥➑➜❼❵➫⑦✲r④♥➑❥❫⑦❩♥♣⑤❙❵✲❤✆➎✮♥➑✐✛❭✬r④❥❫❵✾r❄➟✺✐✛❭❫❵❰➠❫❥✗②❄➓ê❥❫rP⑤❙❵✲❤➂➧
✟➡➽ ✌❏➊❙➉✂✁☎✄ ✑ ☎✝✆✞✆❖✁■☛✶✆✼✠☞✢ ✌✚✠❱✠☞✢❖✆✠✟ ☎ ✠ ✁✡✆❄✠✓✔✪✁☎✞ ✔ ☛✼✌✗✠ ✠☞✢❖✆✧✄✧✁✗✞❄✆☞☛ ✔✍✌ ✆✎✌ ✠☞✢ ✌✗✠

K = s0
✌✑✏ ✢❖✆✟✞✓✒ ✁☎✒

N = 2m
✆☞✔■✆✟✞✖✕

✠☞✢❂✆ ✑❄✠✓✒✮✔ ✕☎✆
K

✛ ✁☎✔☞✞✏✛ ✔✪✎✣✆✮☛✘✗❚✔✓✠☞✢❀✠☞✢❂✆
(m+ 1) ✙ ✠☞✢✘✚ ✞✏✌☎✫❅✞✏✁❉✎✣✆ ✁✛✒ ✠☞✢❖✆✢✜✡✣✥✤✦✤★✧✼✠✓✒ ✆ ✆✡✕✿✌✗✞✏✎ ✁✗✞❄✆ ✢ ✌■☛

PCRR
2m = PBS − D1Ke

−rT

2m
e−

d2
2

2

√

2

π
+ O

(

1

m3/2

)

.

✬✘☛▲✌ ✛ ✁☎✞❂☛ ✆✪✩ ☎❂✆ ✞✏✛ ✆✧✠☞✢❂✆ ✒ ✌✗✠ ✆ ✁✛✒✍✛ ✁✗✞✫✔■✆✟✒✪✤✣✆✟✞✏✛✮✆✝✁✛✒
2PCRR

4m − PCRR
2m

✠✜✁
PBS

✔✖☛ O
(

1
m3/2

) ✌
✬ ✁☎✒

N = 2m+ 1
✁✶✎✣✎✭✕✿✁☎✞❄✆ ✢ ✌■☛

κN = 1/2
✗ ✢✥✔✓✛✟✢✳✆✟✞ ☛ ☎ ✒ ✆✮☛✍✠☞✢❖✌✗✠

PCRR
2m+1 = PBS − Ke−rT

2m
e−

d2
2

2

√

2

π

[

D1 −
σ
√

∆T

4

]

+ O
(

1

m3/2

)

.
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2PCRR

4m+1 − PCRR
2m+1

✠✜✁
PBS ✔ ☛ O

(

1
m3/2

) ✌
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✞❄✁✗✠ ✛ ✁✗✒✮✒ ✆ ✛ ✠✽✌✿✾✟✠ ☛✶✆ ✆✟✄ ☛❱✠✜✁ ☎✥☛ ✠☞✢ ✌✗✠ ✔ ✞ ✠☞✢❖✆✭✆✪✰✡✆❖✌☎✞❂☛✟✔✓✁✗✞❂☛ 1

2

(

1 +
(

r
σ − εσ

2

)

√

T
N +

(

ε r2

2σ − rσ
6 + εσ3

24

)

(

T
N

)3/2
)

+

O
(

1
N2

) ✔✵✌☎✫ ✔✓✎❀✒ ✁☎✒
pu = er∆T−e−σ

√
∆T

eσ
√

∆T −e−σ
√

∆T

✗❚✔✓✠☞✢
ε = 1

✌☎✞✏✎ upu

(d+(u−d)pu) = eσ
√

∆T −e−r∆T

eσ
√

∆T−e−σ
√

∆T

✗❚✔☞✠☞✢
ε = −1

✕ ✔✓✠❁✗ ✁✆☎✥✫◆✎
❂ ✆❆✞❄✆ ✛✮✆✮☛ ☛ ✌☎✒✡☛ ✠✜✁✘✠✜✌■✕✗✆✿✔ ✞✏✠✜✁ ✌✚✛ ✛ ✁✆☎ ✞✡✠❅✞❄✁✗✠❄✁✗✞ ✫❃☛✘✠☞✢❖✆❆✠ ✆ ✒✮✄❄✗❚✔☞✠☞✢✍✁☎✒ ✎✣✆✟✒
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√
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u = 1

d

②④❤✺♥➑❥✰✐✛❭❫❵ ✻➛r✲➭❊➝õ①✆r❶❤✥❤✯➝õ①✆❦❙➏❙♥➑❥❫❤✛✐✥❵❩♥➑❥✒❴❛rP⑤❙❵❩➓Ñ❻❶➎➛❵➛③❙♠✥r④③❯r❶❤✥❵➛♥➑❥✒✐✛❭❫❵✢❞❺❢❊❞✜❴❛❵❩✐✛❭❫r❊⑤✒✐✥r❰❵❩❥❚➝
❤✥❦❙♠✥❵✢✐✛❭✗②❄✐➦✐✛❭❫❵✆❢P✐✛♠✛♥➑➜❼❵

K
♥♣❤✹✐✛❭❫❵

(k+1)
➝Ñ✐✛❭➘→❍➎✮♥➑✐✛❭

k ∈ {1, . . . ,N−1} ↔ê➠❫❥✗②❄➓❙❥❫r❊⑤❙❵✮r❄➟❯✐✛❭❫❵✢✐✛♠✥❵✲❵ ✽
K = s0u

kdN−k

➎✮❭❙♥♣⑦✶❭❲②❄➓♣❤✥r✰➎✮♠✛♥➑✐✥❵✲❤ 1
N log(K

s0
) = q log u+ (1 − q) log d

➎✮❭❫❵❩♠✥❵
q = k

N

➧
✻➛r④❴❿③❙➓♣❵❩❴❛❵❩❥P✐✛♥➑❥❙➃✴✐✛❭❙♥♣❤❛❵✲♦❆❦✗②❄✐✛♥♣r④❥✪➎✮♥➑✐✛❭✽✐✛❭❫❵ ➠❫♠✥❤✛✐❿✐õ➎➛r➨❴❛r④❴❛❵❩❥P✐❛❴➔②❄✐✥⑦✥❭❙♥➑❥❙➃➍⑦✲r④❥❫⑤❚♥➑✐✛♥♣r④❥❫❤❲→➲❾❼↔❈❻➥➎➥❵ ➎✢②❄❥❆✐➔✐✥r↕➠❫❥❫⑤
(log u, log d, pu)

➎✮♥➑✐✛❭
log u > log d

②❄❥❫⑤
pu ∈]0, 1[

❤✥r④➓➑➩❊♥➑❥❙➃●✐✛❭❫❵❛➟➣r④➓➑➓♣r➺➎✮♥➑❥❙➃❲❤✛❣❚❤✛✐✥❵❩❴ r❄➟✏❵✲♦P❦✗②❄✐✛♥♣r④❥❫❤✾➎✮♥➑✐✛❭➍❦❙❥❚➝
➜❊❥❫r➂➎✮❥❫❤

(x, y, p)










qx+ (1 − q)y = α

px+ (1 − p)y = β

px2 + (1 − p)y2 = γ

→➲⑩❼↔

➎✮❭❫❵❩♠✥❵
α = 1

N log(K
s0

)
❻
β = (r− σ2

2 )∆T
②❄❥❫⑤

γ = σ2∆T
➧✵❬✢❭❫❵✮⑦✲rP❵❈➻➔⑦❩♥♣❵❩❥P✐✥❤

(q, α, β, γ)
➏✙❵❩➓♣r④❥❙➃❰✐✥r

]0, 1[×R
2×

R
∗
+

➧
➙✢❵✲⑦➂②❄❦❫❤✥❵❿r❄➟➛✐✛❭❫❵❿❤✥✐✛♠✛♥♣⑦❩✐✾⑦✲r④❥❆➩❼❵❈➭❚♥➑✐õ❣↕r❄➟✢✐✛❭❫❵❿❤✥♦❆❦✗②❄♠✥❵✒➟➣❦❙❥❫⑦❩✐✛♥♣r④❥➯❻✵✐✛❭❫❵✰✐õ➎➥r●➓➒②④❤✛✐➫❵✲♦P❦✗②❄✐✛♥♣r④❥❫❤⑥♥➑❴❿③❙➓➑❣❺✐✛❭✗②❄✐

γ > β2

♥♣❤✒②➡❥❫❵✲⑦✲❵✲❤✥❤✶②❄♠✛❣↕⑦✲r④❥❫⑤❚♥➑✐✛♥♣r④❥➨➟➲r④♠⑥✐✛❭❫❵➔❵❈➭❚♥♣❤✛✐✥❵❩❥❫⑦✲❵❛r❄➟✏②➤❤✥r④➓➑❦❙✐✛♥♣r④❥➯➧➆❬✢❭❙♥♣❤➫⑦✲r④❥❫⑤❚♥➑✐✛♥♣r④❥➢r④➏P➩P♥♣r④❦❫❤✥➓➑❣↕❭❫r④➓♣⑤❙❤⑥♥ ➟
N

♥♣❤⑥➓➒②❄♠✛➃❼❵
❵❩❥❫r④❦❙➃❶❭➯➧➥✇õ✐✮✐✛❦❙♠✛❥❫❤✆r④❦❙✐✏✐✥r❿➏✙❵⑥❤✛❦❚➻➔⑦❩♥♣❵❩❥❆✐✍✽

✂ ➽ ✌ ✌➨➊ ✄ ✬ ☛ ☛ ☎✥✄✝✆ ✠☞✢ ✌✗✠
γ > β2 ✌☎✞✏✎

q ∈]0, 1[
✌✯✏ ✢❂✆✟✞❍✠☞✢❂✆✧☛☞☛■☛✟✠ ✆✟✄ ✁✱✒ ✆✱✩ ☎❂✌✗✠✓✔✓✁✗✞❂☛↕→➲⑩❼↔ ✌✚✎☎✄✩✔✓✠☞☛ ✆✱✰✚✌✚✛ ✠✓✫ ☛✂✠ ✗ ✁

☛ ✁☎✫ ☎ ✠✓✔✪✁☎✞❂☛
(pi, xi, yi)i∈{1,2}

✔☞✞
]0, 1[×{(x, y) ∈ R

2 : x 6= y} ✌ ✏ ✢❖✆✮☛ ✆ ☛ ✁✗✫ ☎❖✠✓✔✓✁✗✞❂☛ ✌✗✒ ✆ ☛ ☎❂✛✟✢ ✠☞✢ ✌✗✠
(x1 − y1)(x2 −

y2) < 0
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x1 > y1
✌☎✞❄✎

x2 < y2
✌

✟➡➽ ✌❏➊❙➉✂✁☎✄ ✾✟✠ ✔✖☛ ✆ ✌■☛☞☛✼✠✜✁✝✛✟✢❖✆ ✛✟✕✼✠☞✢ ✌✗✠ ✠☞✢❖✆✘☛ ✁☎✫ ☎❖✠✓✔✓✁☎✞ ☛
(p̄i, x̄i, ȳi)i∈{1,2}

✁✛✒✘✠☞✢❖✆ ☛✡☛■☛✟✠ ✆✟✄ ✁ ❂ ✠✜✌☎✔ ✞ ✆ ✎ ❂ ☛✧✒ ✆✽✆✏✫◆✌✚✛ ✔☞✞✥✤
q❂ ☛

q̄ = 1− q
✔ ✞ →➲⑩❼↔ ✌✗✒ ✆ ✤☎✔✳✔■✆✟✞ ❂ ☛

(p̄i, x̄i, ȳi) = (1− p3−i, y3−i, x3−i)
✒ ✁☎✒

i ∈ {1, 2} ✗ ✢❖✆ ✒ ✆
(pi, xi, yi)i∈{1,2}✎✥✆✟✞✏✁✗✠ ✆ ✠☞✢❖✆✼☛ ✁☎✫ ☎❖✠✓✔✪✁☎✞❂☛ ✁✛✒✼✠☞✢❖✆ ✁☎✒✟✔◆✤☎✔ ✞❄✌☎✫❚☛✡☛■☛ ✠ ✆✟✄✢✌ ✾✮✞ ✆❖✌✗✒✟✠✓✔✪✛ ☎ ✫●✌☎✒✡✕❆✗ ✢❖✆✟✞

q = 1
2

✕ ✠☞✢❖✆ ✠ ✗ ✁▼☛ ✁✗✫ ☎❖✠✓✔✓✁✗✞❂☛✝✁✛✒ →➲⑩❼↔✝✌✗✒ ✆
✫ ✔☞✞❂✕☎✆ ✎ ❂ ☛

(p2, x2, y2) = (1 − p1, y1, x1)
✌

✆ ➉ ➶❖➶✞✝ ➌ ✾➨❵✾②④❤✥❤✥❦❙❴❛❵⑥✐✛❭✗②❄✐
γ > β2 ②❄❥❫⑤

q ∈]0, 1[
➧ ✾➨❵✾②❄♠✥❵❰➠❫♠✥❤✥✐✏➃❼r④♥➑❥❙➃❛✐✥r❛⑤❙❵➂②❄➓➯➎✮♥➑✐✛❭●✐✛❭❫❵➫⑦➂②④❤✥❵

α 6= β
➏✙❵❈➟➣r④♠✥❵

✐✛♠✥❵➂②❄✐✛♥➑❥❙➃➆✐✛❭❫❵➫⑦➂②④❤✥❵
α = β

➧
✟✾➊❙➇ ➽

α 6= β
➌ ❬✢❭❫❵❩❥ ✐✛❭❫❵➘➠❫♠✥❤✛✐ ✐õ➎➛r✽❵✲♦❆❦✗②❄✐✛♥♣r④❥❫❤✬②❄♠✥❵❺❵✲♦P❦❙♥➑➩④②❄➓♣❵❩❥P✐➤✐✥r

p 6= q
❻
x = α + (1 − q)β−α

p−q

②❄❥❫⑤

y = α− q β−α
p−q

➧✠①☛❵❩③❙➓➒②④⑦❩♥➑❥❙➃✒✐✛❭❫❵✲❤✶❵✕❵❈➭❚③❙♠✥❵✲❤✥❤✛♥♣r④❥❫❤✮r❄➟
x

❵❩❥❫⑤
y

♥➑❥➡✐✛❭❫❵✕➓➒②④❤✛✐✢❵✲♦P❦✗②❄✐✛♥♣r④❥➯❻❚➎➥❵⑥⑤❙❵✲⑤❚❦❫⑦✲❵✕✐✛❭✗②❄✐✢✐✛❭❫❵⑥❤✛❣❊❤✥✐✥❵❩❴
→➲⑩❼↔✢♥♣❤✏❵✲♦❆❦❙♥➑➩❶②❄➓♣❵❩❥❆✐✆✐✥r











p 6= q

x = α+ (1 − q)β−α
p−q , y = α− q β−α

p−q

ap2 + bp+ c = 0

➎✮❭❫❵❩♠✥❵










a = (α− β)2 + (γ − β2)

b = −(α− β)2 − 2q(γ − β2)

c = q2(γ − β2)

.

❬✢❭❫❵✧⑤❚♥♣❤✥⑦❩♠✛♥➑❴❿♥➑❥✗②❄❥❆✐
∆ = (α − β)2

[

(α− β)2 + 4q(1 − q)(γ − β2)
] r❄➟✹✐✛❭❫❵➫➓➒②④❤✛✐☛❵✲♦P❦✗②❄✐✛♥♣r④❥●♥♣❤✆③❯r❶❤✛♥➑✐✛♥➑➩❼❵✧②❄❥❫⑤✬➎➥❵

⑤❙❵✲⑤❚❦❫⑦✲❵✾✐✛❭✗②❄✐✏✐✛❭❙♥♣❤✏❵✲♦P❦✗②❄✐✛♥♣r④❥➘②④⑤❚❴❿♥➑✐✥❤✏✐à➎➥r➔♠✥rPr④✐✥❤ ✽

p1 =
−b+ (β − α)

√

(α− β)2 + 4q(1 − q)(γ − β2)

2a

②❄❥❫⑤
p2 =

−b+ (α− β)
√

(α− β)2 + 4q(1 − q)(γ − β2)

2a
.

❢P♥➑❥❫⑦✲❵➫✐✛❭❫❵❰③❯r④➓➑❣❊❥❫r④❴❿♥➒②❄➓
P (z) = az2 + bz + c

②❄➓♣❤✥r✰➎✮♠✛♥➑✐✥❵✲❤
P (z) = (α− β)2(z2 − z) + (γ − β2)(z − q)2

❻❙r④❥❫❵
❵➂②④❤✥♥➑➓➑❣✬⑦✥❭❫❵✲⑦✥➜❚❤☛✐✛❭✗②❄✐

P (z) > 0
➟➲r④♠

z ∈ R\]0, 1[ ②❄❥❫⑤●✐✛❭✗②❄✐
P (q) < 0

➧✢❬✢❭❫❵❩♠✥❵❈➟➲r④♠✥❵✾r④❥❫❵✧r❄➟✠✐✛❭❫❵➫♠✥r❊r④✐✥❤✏➏✙❵❩➓♣r④❥❙➃❼❤✆✐✥r

➱❍Ý✵➬✵➱ ✞



�✂✁☎✄✝✆✟✞✡✠☞☛✍✌☎✞✏✎✝✑✏✠✓✒✟✔✖✕✗✆✘�✙✌✚✠✜✛✟✢✣✔☞✞✥✤✧✦★✔☞✞✏✁☎✄✩✔✪✌☎✫✏✬✭✫ ✤✣✁☎✒✮✔✓✠☞✢✣✄ ❇

]0, q[
②❄❥❫⑤➤✐✛❭❫❵✧r④✐✛❭❫❵❩♠☛r④❥❫❵⑥✐✥r

]q, 1[
➧✢❞❲r④♠✥❵⑥③❙♠✥❵✲⑦❩♥♣❤✥❵❩➓➑❣

sign(p1 − q) = sign(β − α) = sign(q − p2)
➧➥✉✕❵❩❥❫⑦✲❵➫✐✛❭❫❵

❤✥❣❊❤✛✐✥❵❩❴ →➲⑩❼↔✢❭✗②④❤✏❵❈➭❙②④⑦❩✐✛➓➑❣ ✐à➎➥r❛❤✥r④➓➑❦❙✐✛♥♣r④❥❫❤
(p1, x1, y1)

②❄❥❫⑤
(p2, x2, y2)

♥➑❥
]0, 1[×{(x, y) ∈ R

2 : x 6= y} ➎✮♥➑✐✛❭

xi = α+ (1 − q)
β − α

pi − q

②❄❥❫⑤
yi = α− q

β − α

pi − q

➟➲r④♠
i ∈ {1, 2}.

❜✕r④✐✛♥♣⑦✲❵⑥✐✛❭✗②❄✐
xi = yi + β−α

pi−q

❻❚➎✮❭❙♥♣⑦✥❭➘❵❩❥❫❤✥❦❙♠✥❵✲❤✮✐✛❭✗②❄✐
x1 > y1

②❄❥❫⑤
x2 < y2

➧
✟✾➊❙➇ ➽

α = β
➌ ❢P♥➑❥❫⑦✲❵⑥➎➥❵✒②❄♠✥❵❰➓♣rPr④➜❊♥➑❥❙➃❿➟➲r④♠✏❤✥r④➓➑❦❙✐✛♥♣r④❥❫❤✮➎✮♥➑✐✛❭

x 6= y
❻❚✐✛❭❫❵❰➠❫♠✥❤✥✐✮✐õ➎➥r➆❵✲♦❆❦✗②❄✐✛♥♣r④❥❫❤✆♥➑❥➤✐✛❭❫❵➫❤✛❣❚❤✛✐✥❵❩❴ →➲⑩❼↔

②❄♠✥❵✰❵✲♦P❦❙♥➑➩④②❄➓♣❵❩❥P✐☛✐✥r
p = q

②❄❥❫⑤
x = (β + (q − 1)y)/q

➧❰①✆❵❩③❙➓➒②④⑦❩♥➑❥❙➃➡✐✛❭❫❵✲❤✥❵✧❵❈➭❚③❙♠✥❵✲❤✥❤✛♥♣r④❥❫❤❰r❄➟
p

②❄❥❫⑤
x

♥➑❥❲✐✛❭❫❵✾➓➒②④❤✥✐
❵✲♦P❦✗②❄✐✛♥♣r④❥➯❻❫➎➛❵➫⑤❙❵✲⑤❚❦❫⑦✲❵⑥✐✛❭✗②❄✐✧→➲⑩❼↔✢♥♣❤✏❵✲♦❆❦❙♥➑➩❶②❄➓♣❵❩❥❆✐✆✐✥r











p = q

x = (β + (q − 1)y)/q

y2 − 2βy + β2−qγ
1−q = 0.

❬✢❭❫❵✾⑤❚♥♣❤✥⑦❩♠✛♥➑❴❿♥➑❥✗②❄❥❆✐❰r❄➟✺✐✛❭❫❵❰➓➒②④❤✥✐✆❵✲♦❆❦✗②❄✐✛♥♣r④❥
∆ = 4q(γ−β2)

1−q

♥♣❤✮③✙r❶❤✛♥➑✐✛♥➑➩❼❵✾②❄❥❫⑤✬✐✛❭❙♥♣❤✏❵✲♦❆❦✗②❄✐✛♥♣r④❥●❭✗②④❤✮✐õ➎➛r➔❤✥r④➓➑❦❙✐✛♥♣r④❥❫❤

y1 = β −
√

q(γ − β2)

1 − q

②❄❥❫⑤
y2 = β +

√

q(γ − β2)

1 − q
.

❬✢❭❫❵✾⑦✲r④♠✛♠✥❵✲❤✛③❯r④❥❫⑤❚♥➑❥❙➃➆➩④②❄➓➑❦❫❵✲❤✮➟➣r④♠
x

x1 = β +

√

(1 − q)(γ − β2)

q

②❄❥❫⑤
x2 = β −

√

(1 − q)(γ − β2)

q
,

r④➏P➩P♥♣r④❦❫❤✥➓➑❣●❤✶②❄✐✛♥♣❤✯➟➣❣
x1 > y1

②❄❥❫⑤
x2 < y2

➧✢✉☛❵❩❥❫⑦✲❵✾✐✛❭❫❵✾❤✛❣❚❤✛✐✥❵❩❴ →➲⑩❼↔✮❭✗②④❤✆❵❈➭❫②④⑦❩✐✛➓➑❣➤✐õ➎➛r➆❤✥r④➓➑❦❙✐✛♥♣r④❥❫❤
(q, x1, y1)

②❄❥❫⑤
(q, x2, y2)

♥➑❥
]0, 1[×{(x, y) ∈ R

2 : x 6= y} ➧

✟ê❵❩✐➤❦❫❤➆✐✛❦❙♠✛❥✎➏✗②④⑦✶➜✪✐✥r➍✐✛❭❫❵❺⑦✲r④❥❫❤✛✐✛♠✛❦❫⑦❩✐✛♥♣r④❥ r❄➟✧❞↕❢❊❞ ✐✛♠✥❵✲❵✲❤➺➧ t☛❤✶❤✛❦❙❴❿♥➑❥❙➃✴✐✛❭✗②❄✐
γ > β2 ❻✏➟➣r④♠

q = k/N
➎✮♥➑✐✛❭

k ∈ {1, . . . ,N − 1} ❻❙✐✛❭❫❵➫❤✥r④➓➑❦❙✐✛♥♣r④❥❫❤
(pi, xi, yi)i∈{1,2}

r❄➟✾→➲⑩❼↔➛➃❶♥➑➩❼❵❩❥✬➏P❣ ✟➯❵❩❴❿❴➔②●➁❰③❙♠✥r➂➩❊♥♣⑤❙❵➫✐à➎➥r❛✐✛♠✥❵✲❵✲❤✍✽
� ✐✛❭❫❵➡➠❫♠✥❤✛✐❛r④❥❫❵ ➎✮♥➑✐✛❭

pu = p1
❻
log u = x1

②❄❥❫⑤
log d = y1

♥♣❤❛❤✛❦❫⑦✶❭✽✐✛❭✗②❄✐❛✐✛❭❫❵
(k + 1)

➝Ñ✐✛❭✽➠❫❥✗②❄➓✏❥❫r❊⑤❙❵
s0u

kdN−k r❄➟✹✐✛❭❫❵❰✐✛♠✥❵✲❵⑥♥♣❤✏❵✲♦P❦✗②❄➓➯✐✥r✰✐✛❭❫❵✧❢P✐✛♠✛♥➑➜❼❵
K

❻

� ✐✛❭❫❵✕❤✥❵✲⑦✲r④❥❫⑤➆r④❥❫❵☛➎✮♥➑✐✛❭
pu = 1− p2

❻
log u = y2

②❄❥❫⑤
log d = x2

♥♣❤➛❤✛❦❫⑦✶❭➡✐✛❭✗②❄✐➛✐✛❭❫❵
(N − k)

➝Ñ✐✛❭➆➠❫❥✗②❄➓❯❥❫r❊⑤❙❵
s0u
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(
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pu
❻ upu

d+(u−d)pu

②❄❥❫⑤
(d+ (u− d)pu)−2m ✽

✂ ➽ ✌ ✌➨➊ ✮ ✬ ✁☎✒ ✠☞✢❖✆ �❑✑✡� ✠✓✒ ✆ ✆✠✗❚✔✓✠☞✢
N = 2m

☛✟✠ ✆ ✆✡☛▲✌☎✞✏✎
k = m

✕ ✁☎✞❄✆ ✢ ✌■☛


















pu = 1
2 + d2

2
√

2m
+ µ

(2m)3/2
+ O

(

1
m5/2

)

upu

d+(u−d)pu
= 1

2 + d1

2
√

2m
+ ν

(2m)3/2
+ O

(

1
m2

)

(d+ (u− d)pu)−2m = e−rT
(

1 + η
m

)

+ O
(

1
m3/2

)

✗ ✢❖✆✟✒ ✆






d1 =
log(

s0
K

)+(r+ σ2

2
)T

σ
√

T

d2 = d1 − σ
√
T

,

✌✗✞✏✎
µ =

d2 log(
s0
K

)
h

log( K
s0

)+(σ2−2r)T
i

4σ2T

✕
ν =

d1 log(
s0
K

)
h

log( K
s0

)+(σ2−2r)T
i

4σ2T
− (r−σ

2
)2T 3/2

2σ − σ2Td2

2 − σ3T 3/2

6

✌☎✞✏✎

η = 1
4

(

r − σ2

2

)2
T 2 + 1

24σ
4T 2 + d2

6 σ
3T 3/2 ✌

➱❍Ý✵➬✵➱ ✞
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✾➨❵➆♠✥❵❩❴➔②❄♠✛➜➨✐✛❭✗②❄✐✒✐✛❭❫❵➆❵❈➭❚③✗②❄❥❫❤✛♥♣r④❥❫❤✰r❄➟✏➏✙r④✐✛❭
pu

②❄❥❫⑤ upu

d+(u−d)pu

➎✮♠✛♥➑✐✥❵ 1
2 + a√

2m
+ b

(2m)3/2
+ O

(

1
m2

) ➧●❬✢❭❙♥♣❤
s✯❦❫❤✛✐✛♥ ➠✗❵✲❤✏r④❦❙♠✆♥➑❥❆✐✥❵❩♠✥❵✲❤✛✐☛♥➑❥➤✐✛❭❫❵⑥❥❫❵❈➭❊✐ ✟ê❵❩❴❿❴➔②❿➎✮❭❙♥♣⑦✥❭●♥♣❤✏r④➏❙✐✶②❄♥➑❥❫❵✲⑤➤➟➲r④➓➑➓♣r➂➎✮♥➑❥❙➃➆✐✛❭❫❵➫②❄③❙③❙♠✥r❼②④⑦✥❭❺⑤❙❵❩➩❼❵❩➓♣r④③❙③❯❵✲⑤➤♥➑❥ ✲ ✷☎✴ ✽

✂ ➽ ✌ ✌➨➊ ✄ ✾✺✒
p = 1

2 + p̃√
2m

+
˜̃p

(2m)3/2
+ o

(

1
m3/2

) ✔ ✞✂✠☞✢❖✆✍✫ ✔☞✄✩✔☞✠
m→ +∞ ✕ ✠☞✢❖✆✟✞

m−1
∑

j=0

(

2m

j

)

pj(1 − p)2m−j = N (−2p̃) − e−2p̃2

(

1√
4πm

+
1

m
√

2π

(

p̃3 + ˜̃p− p̃

4

))

+ O
(

1

m3/2

)

m−1
∑

j=0

(

2m− 1

j

)

pj(1 − p)2m−1−j = N (−2p̃) +
e−2p̃2

m
√

2π

(

p̃

4
− p̃3 − ˜̃p

)

+ O
(

1

m3/2

)

,

✗ ✢❂✆✟✒ ✆ N (x) =
∫ x
−∞ e−y2/2 dy√

2π

✎✣✆✟✞❄✁✗✠ ✆✮☛✍✠☞✢❖✆ ✛ ☎ ✄ ☎✥✫◆✌✗✠✓✔✳✔■✆✩✎☎✔ ☛✟✠✓✒✟✔ ❂ ☎❖✠✓✔✪✁☎✞✠✒ ☎ ✞✏✛ ✠✓✔✪✁☎✞✂✁✱✒ ✠☞✢❖✆ ✄ ✁☎✒✟✄✧✌✗✫ ✫●✌❈✗★✌
➙✢❵❈➟➲r④♠✥❵⑥③❙♠✥r➂➩❊♥➑❥❙➃ ✟➯❵❩❴❿❴➔②④❤❰❾❿②❄❥❫⑤▼✯❚❻❚➓♣❵❩✐✏❦❫❤✆⑤❙❵✲⑤❚❦❫⑦✲❵⑥✐✛❭❫❵➫❵❈➭❚③✗②❄❥❫❤✛♥♣r④❥❫❤✏r❄➟

P2m
②❄❥❫⑤

δ2m
➧✠➙➛❣➨→➲❷❼↔❩❻

P2m =Ke−rT

(

1 +
η

m
+ O

(

1

m3/2

))(

N (−d2) − e−
d2
2

2

(

1√
4πm

+
1

m
√

2π

(

d3
2 − d2

8
+ µ

))

+ o

(

1

m

))

− s0

(

N (−d1) − e−
d2
1

2

(

1√
4πm

+
1

m
√

2π

(

d3
1 − d1

8
+ ν

))

+ o

(

1

m

))

.

❢P♥➑❥❫⑦✲❵
e−

d2
1

2 = e−
d2
2

2
Ke−rT

s0

❻❙✐✛❭❫❵❰✐✥❵❩♠✛❴❛❤✏➎✮♥➑✐✛❭➘r④♠✥⑤❙❵❩♠
1/
√
m

⑦➂②❄❥❫⑦✲❵❩➓Ñ➧
✈✗r④♠➔✐✛❭❫❵●⑤❙❵❩➓➑✐✶②❚❻✢✐✛❭❫❵➘⑦✲r④❴❿③❙❦❙✐✶②❄✐✛♥♣r④❥❫❤➤②❄♠✥❵➤➩❼❵❩♠✛❣ ❵➂②④❤✛❣❼➧ t☛❤

PBS = Ke−rTN (−d2) − s0N (−d1)
②❄❥❫⑤

δBS =
−N (−d1)

②❄♠✥❵➆♠✥❵✲❤✛③❯❵✲⑦❩✐✛♥➑➩❼❵❩➓➑❣↕✐✛❭❫❵➔♥➑❥❙♥➑✐✛♥➒②❄➓➛➙➛➓➒②④⑦✶➜❆➝➞❢❊⑦✶❭❫r④➓♣❵✲❤✰③❙♠✛♥♣⑦✲❵➡②❄❥❫⑤➍⑤❙❵❩➓➑✐✶②✬r❄➟✏✐✛❭❫❵➆➳✠❦❙♠✥r④③❯❵➂②❄❥✽q✠❦❙✐✒r④③❙✐✛♥♣r④❥➯❻✹➎➥❵
r④➏❙✐✶②❄♥➑❥

✟ ➶ ➉ ➶ ✙ ✙ý➊❙➉ ➾ ✮ ✬✘☛
m

✠ ✆✟✞✏✎■☛ ✠✜✁✝✔ ✞✝✚ ✞ ✔✓✠ ☛✂✕

P2m = PBS +
CP

m
+ O

(

1

m3/2

) ✗❚✔✓✠☞✢
CP = Ke−rT



ηN (−d2) +
e−

d2
2

2√
2π

(

d3
1 + d2 − d3

2 − d1

8
+ ν − µ

)





δ2m = δBS +
Cδ

m
+ O

(

1

m3/2

) ✗❚✔☞✠☞✢
Cδ =

e−
d2
1

2√
2π

(

d3
1 − d1

8
+ ν

)

,

✗ ✢❂✆✟✒ ✆
d1
✕
d2
✕
µ
✕
ν
✌✗✞✏✎

η
✌✗✒ ✆ ✎✣✆✳✚ ✞❄✆ ✎ ✔☞✞ ❅ ✆ ✄ ✄✼✌✓❇ ✌

❜✆❦❙❴❛❵❩♠✛♥♣⑦➂②❄➓✢♠✥❵✲❤✛❦❙➓➑✐✥❤✰♥➑❥✴✐✶②❄➏❙➓♣❵↕➁➡♥➑➓➑➓➑❦❫❤✛✐✛♠✶②❄✐✥❵➡✐✛❭✗②❄✐❿♥➑❥✴✐✛❭❫❵➤②❄➏❯r➺➩❼❵➤❵❈➭❊③✗②❄❥❫❤✛♥♣r④❥❫❤➺❻✠✐✛❭❫❵➡❥❫❵❈➭❊✐✰✐✥❵❩♠✛❴ ♥♣❤❿② O
(

1
m2

)

♠✶②❄✐✛❭❫❵❩♠☛✐✛❭✗②❄❥➘② O
(

1
m3/2

) ➧

m
➁➂➀❶➀ ❾❶➀❶➀ ✷❆➀❶➀ ❽❶➀❶➀

m2 ×
(

P2m − PBS − CP
m

) ➀❚➧Ü➀❚➁✶✯❶❸❶➀❶❷✗✯ ➀❚➧Ü➀❚➁✶✯❶❷✚❇✵✷✗✷ ➀❚➧Ü➀❚➁✶✯❶⑩❶⑩❶❽✚❇ ➀❚➧Ü➀❚➁✶✯❶⑩❶➀✗✯❶➀

m2 ×
(

δ2m − δBS − Cδ
m

) ➝➥➀❚➧Ü➀❶➀❚➁❉❇④❾■✷❆❾ ➝➥➀❚➧Ü➀❶➀❚➁❉❇④❾❶❾✗✯ ➝➥➀❚➧Ü➀❶➀❚➁❉❇④❾❚➁✶✯ ➝➥➀❚➧Ü➀❶➀❚➁❉❇④❾❶➀❶❸

❬✺②❄➏❙➓♣❵❛➁✗✽ ✱ ③❙✐✛♥♣r④❥✬③✗②❄♠✶②❄❴❛❵❩✐✥❵❩♠✥❤
s0 = 100

❻
K = 107.96

❻
T = 0.8375

❻
r = 0.0107

❻
σ = 0.2168

✈❫r④♠✕♥➑❥❆✐✥❵❩➃❼❵❩♠✥❤
p

②❄❥❫⑤
i ∈ {1, . . . , p − 1} ❻❖r④❥❫❵✰⑦✲r④❦❙➓♣⑤❺❤✛✐✛❦❫⑤❚❣✬✐✛❭❫❵❿②④❤✛❣❊❴❿③❙✐✥r④✐✛♥♣⑦✰❵❈➭❊③✗②❄❥❫❤✛♥♣r④❥❺r❄➟ ✐✛❭❫❵✰➳✠❦❙♠✥r④③✙❵➂②❄❥

q➦❦❙✐✕③❙♠✛♥♣⑦✲❵✒♥➑❥❺✐✛❭❫❵✒❞❺❢❊❞ ✐✛♠✥❵✲❵✒➎✮♥➑✐✛❭
N = p ∗ q ❤✛✐✥❵❩③❫❤⑥②❄❥❫⑤

k = i ∗ q ➧❰✇õ❥❲✐✶②❄➏❙➓♣❵❿❾❚❻❯➎➥❵✒➃❶♥➑➩❼❵✒❥❆❦❙❴❛❵❩♠✛♥♣⑦➂②❄➓✠♠✥❵✲❤✛❦❙➓➑✐✥❤

➬✵➬ ❒✗❲❙ð❈ð✶ã✟❳



➁➂➀ ✦ ✆✟✞ ✁ ✌☎✄✩✔☞✞✄✂ ✁✆☎✥✒ ✎✚✌☎✔☞✞❏✌☎✞✏✎✩✬✭✞✡✠✜✁☎✞ ✔☞✞✏✁✞✝ ✌☎✞❄✆ ✠✪✠ ✆

➟➲r④♠
p = 8

❻✠➎✮❭❙♥♣⑦✶❭ ❤✛❭❫r➂➎ ✐✛❭✗②❄✐✰❦❙❥❙➓♣❵✲❤✥❤
i = p/2 = 4

❻➦✐✛❭❫❵➡⑦✲r④❥P➩❼❵❩♠✛➃❼❵❩❥❫⑦✲❵ ♠✶②❄✐✥❵➆✐✥r❲✐✛❭❫❵ ➙➛➓➒②④⑦✥➜P➝➞❢❊⑦✥❭❫r④➓♣❵✲❤❿③❙♠✛♥♣⑦✲❵➡♥♣❤
r④➏P➩P♥♣r④❦❫❤✥➓➑❣

1/
√
N

r④♠➛❵✲♦❆❦❙♥➑➩❶②❄➓♣❵❩❥❆✐✛➓➑❣
1/
√
q
➧✹❬✢❭❫❵☛⑦➂②④❤✥❵

i = 4
♥➑➓➑➓➑❦❫❤✥✐✛♠✶②❄✐✥❵✲❤ ⑦✲r④♠✥r④➓➑➓➒②❄♠✛❣➔❾✧✽✵➎✮❭❫❵❩❥➔✐✛❭❫❵☛❤✛✐✥❵❩③❛❥❆❦❙❴✧➏❯❵❩♠➥♥♣❤

❴✧❦❙➓➑✐✛♥➑③❙➓➑♥♣❵✲⑤➔➏P❣
4
❻❆✐✛❭❫❵✮➩④②❄➓➑❦❫❵✢♥➑❥❿✐✛❭❫❵✆⑦✲r④♠✛♠✥❵✲❤✛③❯r④❥❫⑤❚♥➑❥❙➃✒⑦✲r④➓➑❦❙❴❿❥❛♥♣❤➦⑤❚♥➑➩❊♥♣⑤❙❵✲⑤❿➏❆❣❿❾❚❻❶➎✮❭❙♥♣⑦✶❭➔❴❛❵➂②❄❥❫❤➦✐✛❭✗②❄✐✠✐✛❭❫❵✆⑤❚♥●❋✙❵❩♠✥❵❩❥❫⑦✲❵
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2 ×

√
4 = 4

➧

N i = 1 i = 2 i = 3 i = 4 i = 5 i = 6 i = 7q➦♠✛♥♣⑦✲❵ ❾❶➀❶➀ ➁❶➧ ✯❶❾❶❸✚❇ ➀❚➧Ü❷✚❇✗❇④➀ ➀❚➧Ü❾❶⑩✚❇✵✷ ➚✁�✄✂ ✄ �✆☎ ✄ ➝à➀❚➧ ✷❆❽✚❇④❽ ➝à➀❚➧Ü❸❶❽✚❇④❽ ➝✶➁❶➧Ü❸❶❾✚❇☎✯
❽❶➀❶➀ ➁❶➧ ✷❆❸❶➀❶❾ ➀❚➧❈❇④⑩❶❽❶➀ ➀❚➧ ✯❚➁➂❷❶❾ ➚✁�✄✂✝�✞☎ ✮ ☎ ➝à➀❚➧ ✷✣✯❚➁ ✷ ➝à➀❚➧Ü❸❚➁✶✯■✷ ➝✶➁❶➧❈❇④❽❶❸❶❾
✯❶❾❶➀❶➀ ➁❶➧Ü⑩❶❷✚❇✗❇ ➀❚➧❈❇④❸✚❇④❷ ➀❚➧ ✯■✷❆⑩✗✯ ➚✁�✄✂✝� ✮✠✟✶✮ ➝à➀❚➧ ✷❆➀❶❾❶❸ ➝à➀❚➧Ü❽✚❇④⑩■✷ ➝✶➁❶➧❈❇❊➁❉❇☎✯
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❽❶➀❶➀ ➀❚➧ ✯■✷✣✯❚➁ ➀❚➧➑➁❉❇✵✷❆❽ ➀❚➧Ü➀✚❇④❽✚❇ �✄✂✝�✞� ✄ ✮✠✍ ➝à➀❚➧Ü➀✚❇④⑩❶❸ ➝à➀❚➧➑➁❉❇❊➁➂❾ ➝à➀❚➧ ✯✗✯❶❷■✷
✯❶❾❶➀❶➀ ➀❚➧ ✯■✷❫➁ ✷ ➀❚➧➑➁❉❇☎✯❶❸ ➀❚➧Ü➀✚❇④❽❶➀ �✄✂✝�✞�✠� ✟ � ➝à➀❚➧Ü➀✚❇④❷❶❷ ➝à➀❚➧➑➁❉❇④❾❚➁ ➝à➀❚➧ ✯✗✯❶❽❚➁

➁➂❾❶❽❶➀❶➀ ➀❚➧ ✯■✷❆➀❶❷ ➀❚➧➑➁❉❇☎✯■✷ ➀❚➧Ü➀✚❇✗❇✗❇ �✄✂✝�✞�✠� ✄ ✮ ➝à➀❚➧Ü➀✚❇✗❇④➀ ➝à➀❚➧➑➁❉❇④❾❶⑩ ➝à➀❚➧ ✯✗✯❶❽❶❸

❬✵②❄➏❙➓♣❵✒❾❖✽ √
N ∗ (MSM(k = i ∗ (N/8)) −BS)

→➣❤✥❵✲❵❰✐✶②❄➏❙➓♣❵➔➁✕➟➣r④♠✮✐✛❭❫❵⑥③✗②❄♠✶②❄❴❛❵❩✐✥❵❩♠✥❤❈↔

✆ ➉ ➶❖➶✞✝➫➶ ✝ ✂ ➽ ✌ ✌❏➊ ✮ ➌ ✾➨❵✒r④❥❙➓➑❣❲➃❶♥➑➩❼❵❿❵❩➓♣❵❩❴❛❵❩❥❆✐✥❤✾r❄➟➥③❙♠✥r❊r❄➟➥♥➑❥↕✐✛❭❫❵✰⑦➂②④❤✥❵
K 6= s0e

(r−σ2

2
)T ➧ ✻➛r④❴❿③❙❦❙✐✶②❄✐✛♥♣r④❥❫❤

②❄♠✥❵✾❤✛♥➑❴❿♥➑➓➒②❄♠✏➏❙❦❙✐✆❵➂②④❤✛♥♣❵❩♠✮➎✮❭❫❵❩❥
K = s0e

(r−σ2

2
)T ➧

✱ ❥❫❵➫❭✗②④❤
q = m/2m = 1/2

❻
α = 1

2m log(K
s0

)
❻
β = (r − σ2

2 ) T
2m

②❄❥❫⑤
γ = σ2 T

2m

➧✠t✮⑦✲⑦✲r④♠✥⑤❚♥➑❥❙➃➔✐✥r➔⑦✲r④♠✥r④➓➑➓➒②❄♠✛❣❺➁❶❻

pu =
1

2

(

1 +
β − α√

γ

(

1 +
α(α− 2β)

γ

)−1/2
)

=
1

2

(

1 +
β − α√

γ
+

1

2

α(α − β)(α− 2β)

γ3/2

)

+ O
(

1

m5/2

)

.

❜✕❵❈➭❚✐➂❻

log u = α+
β − α

2(pu − 1
2)

= α+
√

γ + α(α − 2β) =
√
γ + α+

1

2

α(α − 2β)√
γ

+ O
(

1

m5/2

)

.

t✕❤✆②✰⑦✲r④❥❫❤✥❵✲♦P❦❫❵❩❥❫⑦✲❵❶❻

u = 1 +
√
γ +

(

α+
γ

2

)

+

(

1

2

α(α− 2β)√
γ

+ α
√
γ +

γ3/2

6

)

+

(

α
(

α− β +
γ

2

)

+
γ2

24

)

+ O
(

1

m5/2

)

②❄❥❫⑤

2upu = 1+

(

β − α√
γ

+
√
γ

)

+
(

β +
γ

2

)

+

(

1

2

α(α − β)(α− 2β)

γ3/2
+

√
γ
α+ β

2
− α2

2
√
γ

+
γ3/2

6

)

+O
(

1

m2

)

.

→✜❇❶↔
✇à❥➤✐✛❭❫❵➫❤✶②❄❴❛❵➫➎➛②✲❣❼❻✗❤✛♥➑❥❫⑦✲❵

log d = α− β−α
2(pu− 1

2
)

❻✗r④❥❫❵❰❭✗②④❤

d = 1 −√
γ +

(

α+
γ

2

)

−
(

1

2

α(α − 2β)√
γ

+ α
√
γ +

γ3/2

6

)

+

(

α
(

α− β +
γ

2

)

+
γ2

24

)

+ O
(

1

m5/2

)

.

❜✕❵❈➭❚✐

d+ (u− d)pu = 1 +
(

β +
γ

2

)

+
γ

24
(4β + 8α+ γ) + O

(

1

m5/2

)

.
→➲❽❼↔

➱❍Ý✵➬✵➱ ✞
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(d+ (u− d)pu)−1 = 1 −

(

β + γ
2

)

+ O
(

1
m2

) ➧ ✾ ♥➑✐✛❭➢→✜❇❶↔❈❻❙r④❥❫❵➫⑤❙❵✲⑤❚❦❫⑦✲❵✲❤

2upu

d+ (u− d)pu
= 1+

(

β − α√
γ

+
√
γ

)

+

(

α(2β − α)

2γ
× β − α+ γ√

γ
− β2

√
γ

+ (α− β)
√
γ − γ3/2

3

)

+O
(

1

m2

)

.

✈❫♠✥r④❴ →➲❽❼↔❈❻❙r④❥❫❵➫r④➏❙✐✶②❄♥➑❥❫❤

log(d+ (u− d)pu) =
(

β +
γ

2

)

−
(

β2

2
+
γ2

12
+
γ(β − α)

3

)

+ O
(

1

m5/2

)

.

t✕❤✆②✰⑦✲r④❥❫❤✥❵✲♦P❦❫❵❩❥❫⑦✲❵

(d+ (u− d)pu)−2m = e−2m(β+ γ
2
)
(

1 +m

(

β2 +
γ2

6
+

2γ(β − α)

3

))

+ O
(

1

m3/2

)

.

✱ ❥❫❵✾❵➂②④❤✛♥➑➓➑❣➡⑦✲r④❥❫⑦❩➓➑❦❫⑤❙❵✲❤☛➏❆❣➡♠✥❵❩③❙➓➒②④⑦❩♥➑❥❙➃
α
❻
β

②❄❥❫⑤
γ

➏❆❣ ✐✛❭❫❵❩♥➑♠✆❵❈➭❚③❙♠✥❵✲❤✥❤✛♥♣r④❥❫❤✮♥➑❥➤✐✛❭❫❵✾②❄➏✙r➂➩❼❵✾❵❈➭❊③✗②❄❥❫❤✛♥♣r④❥❫❤➺➧

✆ ➉ ➶❖➶✞✝➥➶✞✝ ✂ ➽ ✌ ✌❏➊ ✄❏➌ ✾➨❵✏➟➣r④➓➑➓♣r➺➎ ✐✛❭❫❵✕②❄③❙③❙♠✥r❼②④⑦✶❭ ⑤❙❵❩➩❼❵❩➓♣r④③❙③✙❵✲⑤➡♥➑❥✙✲ ✷☎✴➯②❄❥❫⑤➔➠❫♠✥❤✛✐ ➎✮♠✛♥➑✐✥❵☛➟➲r④♠
n ∈ {2m, 2m− 1}

m−1
∑

j=0

(

n

j

)

pj(1 − p)n−j = 1 −
n
∑

j=m

(

n

j

)

pj(1 − p)n−j = 1 −m

(

n

m

)
∫ p

0
ym−1(1 − y)n−mdy.

❞❺②❄➜❊♥➑❥❙➃❛✐✛❭❫❵➫⑦✥❭✗②❄❥❙➃❼❵✾r❄➟✺➩❶②❄♠✛♥➒②❄➏❙➓♣❵✲❤
Y =

√
2m(y − 1

2 )
♥➑❥✬✐✛❭❫❵❰♥➑❥P✐✥❵❩➃❶♠✶②❄➓Ñ❻✗r④❥❫❵➫❵➂②④❤✛♥➑➓➑❣ ⑤❙❵✲⑤❚❦❫⑦✲❵✲❤

m−1
∑

j=0

(

2m

j

)

pj(1 − p)2m−j = 1 − 21/2−2m√
m

(

2m

m

)
∫

√
2m(p− 1

2
)

−
√

m/2

(

1 − 2Y 2

m

)m
dY

1 + Y
√

2
m

m−1
∑

j=0

(

2m− 1

j

)

pj(1 − p)2m−1−j = 1 − 23/2−2m√
m

(

2m− 1

m

)
∫

√
2m(p− 1

2
)

−
√

m/2

(

1 − 2Y 2

m

)m−1

dY.

❝✕❤✛♥➑❥❙➃✾❢P✐✛♥➑♠✛➓➑♥➑❥❙➃✕➟➣r④♠✛❴✧❦❙➓➒②❚❻
n! ∼ e−(n+1)(n+1)1/2+n

√
2π
[

1 + 1
12n + O

(

1
n2

)] ❻❶r④❥❫❵➛⑦✥❭❫❵✲⑦✶➜❊❤➦✐✛❭✗②❄✐✺➏✙r④✐✛❭✒✐✛❭❫❵➛⑦✲r❊❵❈➟❍➝
➠✗⑦❩♥♣❵❩❥P✐✥❤ê❴✧❦❙➓➑✐✛♥➑③❙➓➑❣P♥➑❥❙➃☛✐✛❭❫❵✠♥➑❥❆✐✥❵❩➃❶♠✶②❄➓♣❤ê♥➑❥➫✐✛❭❫❵✹③❙♠✥❵❩➩❊♥♣r④❦❫❤ê❵✲♦P❦✗②❄➓➑♥➑✐✛♥♣❵✲❤➯❭✗②✲➩❼❵➦✐✛❭❫❵✹➟➣r④➓➑➓♣r➺➎✮♥➑❥❙➃✆❵❈➭❚③✗②❄❥❫❤✛♥♣r④❥✝✽ √ 2

π

(

1 − 1
8m

)

+

O
(

1
m2

) ➧
❬✢❭❫❵❩❥ ②④❤❖s✯❦❫❤✛✐✛♥ ➠✗❵✲⑤❿♥➑❥✙✲ ✷☎✴✌❬✢❭❫❵✲r④♠✥❵❩❴ ✯❚➧ ✷❫❻P✐✥r➫r④➏❙✐✶②❄♥➑❥➔✐✛❭❫❵☛❵❈➭❊③✗②❄❥❫❤✥♥♣r④❥➔r❄➟➯❵➂②④⑦✥❭➔♥➑❥P✐✥❵❩➃❶♠✶②❄➓Ñ❻❚r④❥❫❵✮❴➔②✲❣✰➠❫♠✥❤✛✐➥❵❈➭❊③✗②❄❥❫⑤➔✐✛❭❫❵
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♥➑❥❙♥➑✐✛♥➒②❄➓✺➙➛➓➒②④⑦✥➜P➝➞❢❊⑦✥❭❫r④➓♣❵✲❤☛③❙♠✛♥♣⑦✲❵✾②❄❥❫⑤✬⑤❙❵❩➓➑✐✶②✰♠✥❵✲❤✛③✙❵✲⑦❩✐✛♥➑➩❼❵❩➓➑❣➡➏❆❣

2PA
4m − PA

2m

②❄❥❫⑤

2
vA
4m (1, s0u4m) − vA

4m (1, s0d4m)

s0 (u4m − d4m)
− vA

2m(1, s0u2m) − vA
2m(1, s0d2m)

s0(u2m − d2m)
.

➬✵➬ ❒✗❲❙ð❈ð✶ã✟❳



➁➂❾ ✦ ✆✟✞ ✁ ✌☎✄✩✔☞✞✄✂ ✁✆☎✥✒ ✎✚✌☎✔☞✞❏✌☎✞✏✎✩✬✭✞✡✠✜✁☎✞ ✔☞✞✏✁✞✝ ✌☎✞❄✆ ✠✪✠ ✆

➎✮❭❫❵❩♠✥❵
vA
4m
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2m
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ψ(x) = (K − x)+♠✥❵✲❤✥③❯❵✲⑦❩✐✛♥➑➩❼❵❩➓➑❣➨♥➑❥➢✐✛❭❫❵➆❞↕❢❊❞ ✐✛♠✥❵✲❵❛➎✮♥➑✐✛❭
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k = 2m
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k = m
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t ❤✶②❄❴❿③❙➓♣❵❰r❄➟
5.000

r④③❙✐✛♥♣r④❥❫❤✢➎➛②④❤✏❵❈➭❚✐✛♠✶②④⑦❩✐✥❵✲⑤➡♠✶②❄❥❫⑤❙r④❴❿➓➑❣➔➟➣♠✥r④❴ ②✾③✙r④③❙❦❙➓➒②❄✐✛♥♣r④❥ ➎✮❭❫r❶❤✥❵❰③✗②❄♠✶②❄❴❛❵❩✐✥❵❩♠✥❤✏②❄♠✥❵⑥❤✛♥➑❴❿♥➑➓➒②❄♠✢✐✥r
✐✛❭❫❵✾⑦❩➓➒②④❤✥❤✛♥♣⑦➂②❄➓➯r④❥❫❵✲❤✮❦❫❤✥❵✲⑤ ♥➑❥❏✲Ü❾✵✴ ✽✹♠✛♥♣❤✥➜❛➟➣♠✥❵✲❵❰♥➑❥❆✐✥❵❩♠✥❵✲❤✛✐✏♠✶②❄✐✥❵

r
❦❙❥❙♥ ➟➲r④♠✛❴✜➏❯❵❩✐à➎➥❵✲❵❩❥❲➀✰②❄❥❫⑤●➀❚➧➑➁✱●❚➩❼r④➓➒②❄✐✛♥➑➓➑♥➑✐à❣

σ
❦❙❥❙♥ ➟➣r④♠✛❴

➏✙❵❩✐õ➎➛❵✲❵❩❥➆➀❚➧➑➁✮②❄❥❫⑤❿➀❚➧Ü❷❍●❼❤✛✐✛♠✛♥➑➜❼❵
K

❦❙❥❙♥ ➟➲r④♠✛❴ ➏✙❵❩✐õ➎➛❵✲❵❩❥ ❇④➀✕②❄❥❫⑤➡➁✶✯❶➀❍●❆✐✛♥➑❴❛❵➛✐✥r☛❴➔②❄✐✛❦❙♠✛♥➑✐à❣ →❍❣❼❵➂②❄♠✥❤❈↔
T

❦❙❥❙♥ ➟➲r④♠✛❴✭➏❯❵❩✐à➎➥❵✲❵❩❥
➀➡②❄❥❫⑤➍➁✾➎✮♥➑✐✛❭❺③❙♠✥r④➏✗②❄➏❙♥➑➓➑♥➑✐õ❣❺➀❚➧❈❇④⑩➆②❄❥❫⑤❲❦❙❥❙♥ ➟➲r④♠✛❴ ➏✙❵❩✐õ➎➛❵✲❵❩❥ ➁✧②❄❥❫⑤↕⑩➔➎✮♥➑✐✛❭➘③❙♠✥r④➏✗②❄➏❙♥➑➓➑♥➑✐à❣❲➀❚➧Ü❾❶⑩❍●✙✐✛❭❫❵✧♥➑❥❙♥➑✐✛♥➒②❄➓✺③❙♠✛♥♣⑦✲❵✒r❄➟
✐✛❭❫❵➫❦❙❥❫⑤❙❵❩♠✛➓➑❣P♥➑❥❙➃

s0
♥♣❤➫➁➂➀❶➀❚➧

✈❫r④♠➫❵➂②④⑦✥❭➍r④③❙✐✛♥♣r④❥❏r❄➟➥✐✛❭❫❵➔❤✶②❄❴❿③❙➓♣❵❶❻➯✐✛❭❫❵✰➏✙❵❩❥❫⑦✥❭❙❴➔②❄♠✛➜↕③❙♠✛♥♣⑦✲❵✰♥♣❤➫⑦✲r④❴❿③❙❦❙✐✥❵✲⑤❏♥➑❥↕✐✛❭❫❵ ✻➛①✆① ❴❛rP⑤❙❵❩➓✠➎✮♥➑✐✛❭➢❸❶❷❚➧Ü➀❶➀❶➀
❤✥✐✥❵❩③❫❤➂➧➢✇à❥ r④❦❙♠❿❥❆❦❙❴❛❵❩♠✛♥♣⑦➂②❄➓✆✐✥❵✲❤✛✐✥❤➂❻✠➟➲r④♠❿❵➂②④⑦✥❭✪r④③❙✐✛♥♣r④❥➯❻➥✐✛❭❫❵➤❵❩♠✛♠✥r④♠❿❴❛❵➂②④❤✛❦❙♠✥❵ ♥♣❤✰➃❶♥➑➩❼❵❩❥ ➏P❣❏✐✛❭❫❵✬②❄➏❫❤✥r④➓➑❦❙✐✥❵✬➩④②❄➓➑❦❫❵ r❄➟
✐✛❭❫❵✾♠✥❵❩➓➒②❄✐✛♥➑➩❼❵✾❵❩♠✛♠✥r④♠➂➧➥❬✢❭❫❵❩❥➯❻❫✐✛❭❫❵➫❵❩♠✛♠✥r④♠✥❤✏➟➣r④♠✏✐✛❭❫❵➫➎✮❭❫r④➓♣❵✾❤✶②❄❴❿③❙➓♣❵✾②❄♠✥❵✾❤✛❦❙❴❿❴➔②❄♠✛♥◆❁➂❵✲⑤✬➏P❣➡✐✛❭❫❵✧❞➘❵➂②❄❥➘①✆❵❩➓➒②❄✐✛♥➑➩❼❵➫➳✠♠✛♠✥r④♠
→➣❞❲①✆➳➛↔➦②❄❥❫⑤❛➏P❣❿✐✛❭❫❵✆❤✥♦P❦✗②❄♠✥❵✏①☛rPr④✐ r❄➟➯✐✛❭❫❵✆❞➘❵➂②❄❥➤❢❊♦❆❦✗②❄♠✥❵☛①✆❵❩➓➒②❄✐✛♥➑➩❼❵✆➳➦♠✛♠✥r④♠❰→➣①☛❞❺❢❊①☛➳➥↔❈➧❼❬✢❭❫❵✏➩❶②❄➓➑❦❫❵✲❤➥♥➑❥➔✐✛❭❫❵✏✐✶②❄➏❙➓♣❵✲❤
❭✗②➂➩❼❵➫➏✙❵✲❵❩❥➤❴✾❦❙➓➑✐✛♥➑③❙➓➑♥♣❵✲⑤➘➏❆❣

108 ➧
❜☛r➺➎ ❤✥❵❩➩❼❵❩♠✶②❄➓êr④③❙✐✛♥♣r④❥❫❤☛r❄➟✠✐✛❭❫❵➫❤✶②❄❴❿③❙➓♣❵⑥❭✗②➂➩❼❵➫➏✙❵✲❵❩❥✬⑤❚♥♣❤✥⑦➂②❄♠✥⑤❙❵✲⑤➤➟➲r④♠✏➩❶②❄♠✛♥♣r④❦❫❤✮♠✥❵➂②④❤✥r④❥❫❤➂➧➥✈✵♥➑♠✥❤✥✐✆r❄➟✠②❄➓➑➓Ñ❻✗r④❦❙✐✆r❄➟✠✐✛❭❫❵

❴❛r④❥❫❵❩❣❛r④③❙✐✛♥♣r④❥❫❤➥➎✮♥➑✐✛❭➡②⑥➩❼❵❩♠✛❣✰❤✥❴➔②❄➓➑➓✗➏✙❵❩❥❫⑦✥❭❙❴➔②❄♠✛➜❿③❙♠✛♥♣⑦✲❵❶❻P✐✛❭✗②❄✐ ♥♣❤➂❻❆➓♣❵✲❤✥❤➦✐✛❭✗②❄❥
s0/1000 = 0.1

❭✗②✲➩❼❵☛➏✙❵✲❵❩❥❛♠✥❵❩❴❛r➂➩❼❵✲⑤❖➧
✇à❥❫⑤❙❵✲❵✲⑤❖❻❙❤✛❦❫⑦✶❭➡➓♣r➺➎✎➩④②❄➓➑❦❫❵✲❤✮②❄♠✥❵❰♠✥❵✲❤✛③✙r④❥❫❤✛♥➑➏❙➓♣❵✆➟➣r④♠✢❦❙❥❙♠✥❵❩➓➑♥➒②❄➏❙➓♣❵➫②❄❥❫⑤➡❭❙♥➑➃❶❭➤♠✥❵❩➓➒②❄✐✛♥➑➩❼❵❰❵❩♠✛♠✥r④♠✥❤➂➧➦❬✢❭❫❵❩❥➯❻❚➎➛❵✕⑤❚♥♣❤✶⑦➂②❄♠✥⑤❙❵✲⑤ ✐✛❭❫❵
♥➑❥❺✐✛❭❫❵✒❴❛r④❥❫❵❩❣●r④③❙✐✛♥♣r④❥❫❤❰♥➑❴❿❴❛❵✲⑤❚♥➒②❄✐✥❵❩➓➑❣❺❵❈➭❚❵❩♠✥⑦❩♥♣❤❨②❄➏❙➓♣❵✰②❄✐❰✐✛❭❫❵✒➏✙❵❩❥❫⑦✥❭❙❴➔②❄♠✛➜●➓♣❵❩➩❼❵❩➓Ñ❻✙✐✛❭✗②❄✐❰♥♣❤➂❻❯➎✮♥➑✐✛❭❺➏✙❵❩❥❫⑦✥❭❙❴➔②❄♠✛➜●③❙♠✛♥♣⑦✲❵
(K − s0)

➧✘✾➨❵✒❤✥♥➑➃❶❥✗②❄➓✺✐✛❭✗②❄✐❰✐✛❭❙♥♣❤❰⑦✥❭✗②❄♠✶②④⑦❩✐✥❵❩♠✛♥♣❤✥✐✛♥♣⑦❿♥♣❤❰⑦✲r④♠✛♠✥❵✲⑦❩✐✛➓➑❣●③✙❵❩♠✥⑦✲❵❩♥➑➩❼❵✲⑤❲➟➣r④♠⑥②❄➓➑➓✠r④③❙✐✛♥♣r④❥❫❤⑥r❄➟ ✐✛❭❙♥♣❤❰➃❶♠✥r④❦❙③❺➏❆❣❲②❄➓➑➓
✐✛❭❫❵❛③❙♠✛♥♣⑦❩♥➑❥❙➃✬❴❛❵❩✐✛❭❫rP⑤❙❤✾⑦✲r④❥❫❤✛♥♣⑤❙❵❩♠✥❵✲⑤↕♥➑❥➨✐✛❭❫❵✰✐✥❵✲❤✛✐➂➧✩✾ ♥➑✐✛❭↕✐✛❭❙♥♣❤⑥③❙♠✥❵❩❴❿♥♣❤✥❵✰✐✛❭❫❵✲❤✶❵❛r④③❙✐✛♥♣r④❥❫❤➫⑤❙r➤❥❫r④✐✾②④⑤❙⑤❏②❄❥P❣➘③❙♠✛♥♣⑦❩♥➑❥❙➃
❵❩♠✛♠✥r④♠❰②❄❥❫⑤✬⑤❙r✰❥❫r④✐✏♠✥❵✲♦P❦❙♥➑♠✥❵⑥❭❫❵✲⑤❚➃❶♥➑❥❙➃➆⑤❙❵✲⑦❩♥♣❤✥♥♣r④❥❫❤✆r④❥❫⑦✲❵⑥✐✛❭❫❵❩❣ ❭✗②✲➩❼❵➫➏❯❵✲❵❩❥●⑦✲r④♠✛♠✥❵✲⑦❩✐✛➓➑❣➤❵❈➭❙❵❩♠✥⑦❩♥♣❤✥❵✲⑤❖➧ t✢✐✆✐✛❭❫❵➫❵❩❥❫⑤➤r❄➟✠✐✛❭❫❵
❤✥✐✥r④♠✛❣❼❻❂✷❫➧ ✷✗✷✣✯❿r④③❙✐✛♥♣r④❥❫❤✆❤✥❦❙♠✛➩P♥➑➩❼❵✲⑤❅✽ ❾❚➧Ü❾❶➀❶❸❿♥➑❥➤✐✛❭❫❵⑥❴❛r④❥❫❵❩❣✬②❄❥❫⑤●❾❚➧Ü❾✗✯■✷➔r④❦❙✐✏r❄➟✹✐✛❭❫❵⑥❴❛r④❥❫❵❩❣❼➧

➱❍Ý✵➬✵➱ ✞



�✂✁☎✄✝✆✟✞✡✠☞☛✍✌☎✞✏✎✝✑✏✠✓✒✟✔✖✕✗✆✘�✙✌✚✠✜✛✟✢✣✔☞✞✥✤✧✦★✔☞✞✏✁☎✄✩✔✪✌☎✫✏✬✭✫ ✤✣✁☎✒✮✔✓✠☞✢✣✄ ➁✶✯

✶✰✷✁� ✂☎✄ ❇ ❃❍❀✝✆ ❀✟✞✡✠✬✿✑❅☛✞

❞❲❵➂②❄❥➢②❄❥❫⑤➨♦P❦✗②④⑤❚♠✶②❄✐✛♥♣⑦➔❵❩♠✛♠✥r④♠✥❤✒②❄♠✥❵❿③❙♠✥❵✲❤✥❵❩❥P✐✥❵✲⑤➨♥➑❥❏❬✺②❄➏❙➓♣❵✼✷❫➧➔❜✕r④✐✛♥♣⑦✲❵❿✐✛❭✗②❄✐⑥➟➲r④♠✧②❄➓➑➓➦❴❛❵❩✐✛❭❫r❊⑤❙❤➫➏❙❦❙✐✾✐✛❭❫❵ ✻➛①✆①⑧✐✛♠✥❵✲❵
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❵❩➩❼❵❩❥➯➧✽✈✗r④♠❛✐✛❭❙♥♣❤❛⑦✥❭❫r④♥♣⑦✲❵❶❻➥➎➥❵✬❭✗②✲➩❼❵➤③❙♠✥r➺➩❼❵✲⑤ ✐✛❭✗②❄✐❿✐✛❭❫❵➤⑤❚♥●❋❖❵❩♠✥❵❩❥❫⑦✲❵➤➏❯❵❩✐à➎➥❵✲❵❩❥ ✐✛❭❫❵➤❞❺❢❊❞ ③❙♠✛♥♣⑦✲❵❏→❍♠✥❵✲❤✛③➯➧
⑤❙❵❩➓➑✐✶②❼↔✢②❄❥❫⑤➆✐✛❭❫❵❰➙➛➓➒②④⑦✥➜P➝➞❢❊⑦✥❭❫r④➓♣❵✲❤✮③❙♠✛♥♣⑦✲❵❿→❍♠✥❵✲❤✛③➯➧✠⑤❙❵❩➓➑✐✶②❼↔➛r❄➟ê✐✛❭❫❵✕➳✠❦❙♠✥r④③✙❵➂②❄❥✬q✠❦❙✐✮r④③❙✐✛♥♣r④❥ ♥♣❤➥➃❶♥➑➩❼❵❩❥ ➏P❣ C

m +O
(

1
m3/2

)

②❄❥❫⑤❏❥❆❦❙❴❛❵❩♠✛♥♣⑦➂②❄➓✢❵❈➭❊③✙❵❩♠✛♥➑❴❛❵❩❥❆✐✥❤✒❤✛❭❫r➺➎⑧✐✛❭✗②❄✐✾✐✛❭❫❵➔❤✥❵✲⑦✲r④❥❫⑤➨✐✥❵❩♠✛❴✷♥♣❤✾♥➑❥➨➟Ñ②④⑦❩✐✧② O
(

1
m2

) ➧➡❬✢❭❙♥♣❤✮s✯❦❫❤✛✐✛♥ ➠✗❵✲❤➫✐✛❭❫❵❛❦❫❤✥❵❛r❄➟
①✆♥♣⑦✥❭✗②❄♠✥⑤❙❤✥r④❥➨❵❈➭❚✐✛♠✶②❄③✙r④➓➒②❄✐✛♥♣r④❥❲✐✥r➡➃❼❵❩✐❰♠✛♥♣⑤❲r❄➟ ✐✛❭❫❵✧➠❫♠✥❤✛✐☛✐✥❵❩♠✛❴✞♥➑❥↕➳✠❦❙♠✥r④③✙❵➂②❄❥↕⑦➂②④❤✥❵❶➧⑥❬✢❭❫❵✰❞❺❢❊❞❲① ❴❛❵❩✐✛❭❫rP⑤❺⑦✲r④❥❫❤✛♥♣❤✛✐✥❤
♥➑❥✽②❄③❙③❙➓➑❣❊♥➑❥❙➃❲✐✛❭❫❵➆❤✶②❄❴❛❵➆♥♣⑤❙❵➂②④❤✧♥➑❥➍✐✛❭❫❵➡t✆❴❛❵❩♠✛♥♣⑦➂②❄❥✴⑦➂②④❤✥❵❶➧●➳➦➩❼❵❩❥➍♥ ➟✏♥➑✐✥❤✧❥❆❦❙❴❛❵❩♠✛♥♣⑦➂②❄➓✮♠✶②❄✐✥❵➡r❄➟✆⑦✲r④❥❆➩❼❵❩♠✛➃❼❵❩❥❫⑦✲❵ ♥♣❤✒r④❥❙➓➑❣
❤✥➓➑♥➑➃❶❭❆✐✛➓➑❣➔➏✙❵❩✐✛✐✥❵❩♠➛✐✛❭✗②❄❥ 1

m

❻❊♥➑✐➥③✙❵❩♠✯➟➣r④♠✛❴❛❤➛➏✙❵❩✐✛✐✥❵❩♠➥✐✛❭✗②❄❥ ✐✛❭❫❵✕r④✐✛❭❫❵❩♠✢➓➒②❄✐✛✐✛♥♣⑦✲❵☛❴❛❵❩✐✛❭❫r❊⑤❙❤✮②④❤✢⑦✲r④❥❚➠❫♠✛❴❛❵✲⑤➆➏P❣➆②❄❥➤❵❈➭❊✐✥❵❩❥❫❤✥♥➑➩❼❵
❥P❦❙❴❛❵❩♠✛♥♣⑦➂②❄➓✺⑦✲r④❴❿③✗②❄♠✛♥♣❤✶r④❥➯➧

➄✰➋✂✁✞✝ ➶❊➪ ✙ ➽ ➹✠✟ ✌ ➽ ✝❯➈➂➇ ✂✍✾➨❵✧②❄♠✥❵➫♥➑❥❫⑤❙❵❩➏❙✐✥❵✲⑤✬✐✥r ✟ê②❄❦❙♠✶② ❃✌♥➒②❄❥❙♥❖➟➲r④♠✏❭❫❵❩➓➑③✬③❙♠✥r➺➩P♥♣⑤❙❵✲⑤➘♥➑❥✬❥P❦❙❴❛❵❩♠✛♥♣⑦➂②❄➓✺⑦✲r④❴❿③✗②❄♠✛♥♣❤✥r④❥➯➧
✾➨❵✧②❄➓♣❤✥r✰③❯❵❩♠✯➟➲r④♠✛❴❛❵✲⑤✬❤✥r④❴❛❵➫❥❆❦❙❴❛❵❩♠✛♥♣⑦➂②❄➓✵❵❈➭❚③✙❵❩♠✛♥➑❴❛❵❩❥❆✐✥❤✆r④❥●✐✛❭❫❵➫❤✥r❄➟➣✐õ➎➛②❄♠✥❵☛✡✌☞✎✍✑✏✓✒✕✔✹✲➑➁➂❾■✴õ➧

✁ ✝✠✱✲✝✹✖✙✝✠✟✧✣✺✝✠☞

✲➑➁✟✴✧➙➛➓➒②④⑦✥➜ ✈✢➧➑❻✏❢❊⑦✥❭❫r④➓♣❵✲❤ ❞➢➧❱✽➘❬✢❭❫❵➘q✠♠✛♥♣⑦❩♥➑❥❙➃➍r❄➟ ✱ ③❙✐✛♥♣r④❥❫❤ ②❄❥❫⑤ ✻➛r④♠✛③✙r④♠✶②❄✐✥❵✄✟❖♥➒②❄➏❙♥➑➓➑♥➑✐✛♥♣❵✲❤➂➧ ✂✥✁✆☎ ✒✮✞❄✌☎✫✭✁✛✒ ✟ ✁☎✫ ✔✓✠✓✔✪✛ ✌☎✫
✖★✛ ✁☎✞❄✁☎✄ ☛ ✍✥✄ ❻❫❷✗✯✚❇➺➝à❷❶⑩■✷❺→✯➁➂❸✚❇☎✯❼↔❈➧

➱❍Ý✵➬✵➱ ✞



�✂✁☎✄✝✆✟✞✡✠☞☛✍✌☎✞✏✎✝✑✏✠✓✒✟✔✖✕✗✆✘�✙✌✚✠✜✛✟✢✣✔☞✞✥✤✧✦★✔☞✞✏✁☎✄✩✔✪✌☎✫✏✬✭✫ ✤✣✁☎✒✮✔✓✠☞✢✣✄ ➁➂⑩

✲Ü❾✵✴✧➙➛♠✥r❼②④⑤❚♥♣❵●❞➍➧➑❻ ✖❰❵❩✐✥❵❩❴❿③❙➓♣❵✁�❫➧❱✽❲t✆❴❛❵❩♠✛♥♣⑦➂②❄❥ ✱ ③❙✐✛♥♣r④❥✄✂ ②❄➓➑❦✗②❄✐✛♥♣r④❥ ✽❺❜✕❵❩➎ ➙✢r④❦❙❥❫⑤❙❤➂❻✢t✆③❙③❙♠✥r➂➭❊♥➑❴➔②❄✐✛♥♣r④❥❫❤➤②❄❥❫⑤ ②
✻➛r④❴❿③✗②❄♠✛♥♣❤✥r④❥●r❄➟✠➳✹➭❚♥♣❤✛✐✛♥➑❥❙➃➔❞❲❵❩✐✛❭❫rP⑤❙❤➂➧ ✏ ✢❂✆✹✤❱✆☞✔✶✔✜✆☞✗ ✁✱✒ ✬ ✔☞✞✏✌☎✞❄✛ ✔✓✌✗✫ ✑✏✠ ☎❖✎✗✔✪✆✮☛✆☎➯❻❙❜✕r❙➧❂✷❫❻❖➁➂❾❶❾❚➁❈➝✶➁➂❾❶⑩❶➀●→✯➁➂❸❶❸❶❷❼↔❈➧

✲ ✯✵✴✩✻➛r✲➭✝�✗➧➑❻✆①✆r❶❤✶❤ ❢❯➧èt✒➧➛②❄❥❫⑤ ①✆❦❙➏❙♥➑❥❫❤✛✐✥❵❩♥➑❥✎❞➢➧ ✽ ✱ ③❙✐✛♥♣r④❥✎q✠♠✛♥♣⑦❩♥➑❥❙➃ ✽➨t✩❢P♥➑❴❿③❙➓➑♥ ➠✗❵✲⑤✎t☛③❙③❙♠✥r❼②④⑦✥❭➯➧ ✂ ✁✆☎✥✒✟✞✏✌☎✫✘✁✛✒
✬ ✔ ✞✏✌✗✞✏✛ ✔✪✌☎✫ ✖★✛ ✁☎✞✏✁✗✄ ✔✪✛✟☛ ☞❯❻❫❾❶❾❶❸❳➝à❾❶❷■✷❺→✯➁➂❸✚❇④❸❼↔❈➧

✲ ✷☎✴ ✖✕♥♣❵❩❥❫❵❩♠➫✈➛➧➯②❄❥❫⑤ ✖✕♥♣❵❩❥❫❵❩♠➫❞➍➧ ✽⑥t☛❤✛❣❊❴❿③❙✐✥r④✐✛♥♣⑦✲❤⑥r❄➟➥✐✛❭❫❵❛③❙♠✛♥♣⑦✲❵❿r❶❤✥⑦❩♥➑➓➑➓➒②❄✐✛♥♣r④❥❫❤➫r❄➟✏②➆➳➦❦❙♠✥r④③❯❵➂②❄❥❍✻✢②❄➓➑➓➥r④③❙✐✛♥♣r④❥↕♥➑❥❏②
✐✛♠✥❵✲❵❰❴❛rP⑤❙❵❩➓ �✙✌✗✠☞✢❖✆✟✄✼✌✗✠✓✔✪✛ ✌☎✫❁✬ ✔☞✞✏✌☎✞❄✛ ✆ ✄ � ❻❙❜✕r❙➧❫❾❚❻✗❾✚❇❊➁❈➝à❾❶❸✗✯✬→➲❾❶➀❶➀■✷P↔❈➧

✲Ü⑩✵✴✧✈✺♥➑➃❶➓♣❵❩➎✏❤✛➜P♥✠❢❯➧➑❻ ✸➫②④r➔➙❰➧ ✽✢❬✢❭❫❵✒t✮⑤❫②❄③❙✐✛♥➑➩❼❵✧❞❲❵✲❤✛❭➘❞❲r❊⑤❙❵❩➓✜✽✢②➔❜☛❵❩➎ t✆③❙③❙♠✥r❼②④⑦✶❭❺✐✥r➔➳✹➻➔⑦❩♥♣❵❩❥P✐ ✱ ③❙✐✛♥♣r④❥↕q✠♠✛♥♣⑦❩♥➑❥❙➃❫➧
✂✥✁✆☎ ✒✟✞✏✌☎✫ ✁✛✒ ✬ ✔☞✞✏✌☎✞✏✛ ✔✓✌☎✫ ✖★✛ ✁☎✞✏✁☎✄✩✔✪✛✟☛ ☎ ✄ ❻ ✯❚➁✶✯❳➝ ✯❶⑩❚➁➡→✯➁➂❸❶❸❶❸❼↔❈➧

✲Ü❷✵✴✩✸⑥②❄❦❫⑤❙❵❩❥❂❁✲♥❫❞➍➧❼②❄❥❫⑤❿q✠♠✥❵✲❤✥❤✶②④⑦✲⑦✲r➫✈✢➧❖✽✺t✆❥❛➳✹➻➔⑦❩♥♣❵❩❥P✐ ➙➛♥➑❥❫r④❴❿♥➒②❄➓✗❞❲❵❩✐✛❭❫rP⑤✒➟➲r④♠➦q✠♠✛♥♣⑦❩♥➑❥❙➃✾t☛❴❛❵❩♠✛♥♣⑦➂②❄❥➔q✠❦❙✐ ✱ ③❙✐✛♥♣r④❥❫❤➂➧
✞▲✆ ✛ ✔✖☛✟✔✓✁✗✞❂☛ ✔ ✞ ✖★✛ ✁☎✞❄✁☎✄✩✔✓✛✟☛▲✌✗✞✏✎ ✬ ✔☞✞✏✌☎✞✏✛✮✆✎✌ ✑❈✆✏✒✟✔ ✞ ✤✣✆✟✒✁✟ ✆✟✒✟✫◆✌✶✤ � ❻❙❜☛r❙➧➯➁❶❻❖➁❈➝✶➁❉❇✬→➲❾❶➀❶➀✗✯❼↔❈➧

✲❈❇❉✴✩✸⑥②❄❦❫⑤❙❵❩❥❂❁✲♥✏❞➍➧➑❻ q✠♠✥❵✲❤✥❤❨②④⑦✲⑦✲r➨✈✢➧➑❻✿❃✙②❄❥❫❵❩✐✛✐✥❵✬t✒➧✠②❄❥❫⑤ ❃✌♥➒②❄❥❙♥✠✟➦➧★✽ ✉✆♥➑➃❶❭ q➦♠✥❵✲⑦❩♥♣❤✛♥♣r④❥✪q✠♠✛♥♣⑦❩♥➑❥❙➃➢②❄❥❫⑤✽✉✕❵✲⑤❚➃❶♥➑❥❙➃➨r❄➟
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